X AY 3z }\ —_
4 113&;«1}_@214%%%% ® ==> R4 4
1 NS: #Ei ﬁ%él‘i@(ﬁﬁm 28 3 NS: nﬂﬂﬁﬂﬂﬂ BRE ¥ﬁ(F>ﬁC) -24 VP:| 19.10 : 090 Total VP: 39.82 Rank:
EW: PR E55EEI0) 24 EW: 8§3038 PEIRER(BAO) -2 IMP:| 42 3 10
S — I —
#1 » Q74 3CN-2 -100 Mean: 2HS2 110 7.0 1 [[#2 » AJ97 3DE-1 50 Mean: 5CN5 600 11.0 1
v J8 3NW3 -400 -200 2HS-1 50 40 1 v AT7 2NS-1-100 90  4SN4 620 11.0 1
¢ J3 Dif: 300 NS:3 3DE3 110 3.0 4 + 983 Dif: 150 NS:-1 1NE-4 200 3.0 1
& KQT874 IMP: 7 EW:5 3CS-2 4100 3.0 1 » K82 IMP: 4 EW:5 5DE-3 150 2.0 1
& AK8 #» T63 3CN-2 4100 3.0 1 T53 #» K86 4CN5 150 2.0 2
v QT64 v2 3HS-3 150 2.0 3 ||e K9864 I v5 2HE-3 150 2.0 1
+ A86 * KT9542 3DE4 4130 20 1 ||e KJ4 3 QT7652 3DE-1 50 1.0 7
& J95 » A62 3CN-3 4150 20 1 ||s Q6 » A74 3SN-1 100 -5.0 1
%+ VBN 4 J952 3NN-5 250 -20 1 o eVAN 4, Q42 2SN-1 4100 -50 1
N 1~~~ ~ ¢ AK9753 3NW3 400 -50 2|IN 5~331 » QJ32 2NS-1 100 -5.0 1
S 1~1~~ ¢Q7 4HXS-3 500 70 1(||S 5~331 A 4SN-3 300 9.0 1
E ~4~~3 &3 4HXS-4 800 -120 1 ||E ~1 ~~ ~ & JT953
W~4~~3 W ~1~~~
#3 » 86 3HW-1 100 Mean: 4HXW-1 200 7.0 1 ||# 4 » AQ 6DN6 1370 Mean: 6NN6 1440 110 3
v QJ64 4HW-1100 -70  4HW-1 100 50 6 v AKJ9 3NN6 690 910 6DS6 1370 100 2
¢ A43 Dif: 0 NS:5 3NE-1 100 50 1 ¢ KT3 Dif: 680 NS:10 6DN6 1370 100 2
& T763 IMP: 0 EW:-5 3HW-1 100 50 1 & KJ94 IMP: 12 EW:6 6CS6 1370 100 1
& AQ53 a J7 2NN-2 100 1.0 1 ||a JT953 ~ K87642 6CN6 1370 100 4
v AKT975 v 32 3HW3 140  -20 1 ||e Q8654 + v T72 3NN6 690 6.0 1
* K6 ¢ T9752 2HW3 140 -20 1 ||e5 ¢ J74 6CS-1 100 140 1
& K & A985 3HW4 470 -30 2 ||s 76 aA 7NXN-1 200 -15.0 1
% ¢V BN 4 KT942 2HW4 470 -3.0 2 FOVAN , 7CXN-1 200 -150 3
N ~~~~~ v8 4HW4 620 110 2[IN 56 ~~6 ¢3
S 1~~~~ ¢QJ8 S 56 ~~4 ¢ AQ9862
E ~32~1 &QJ42 E ~~~~~ & QT8532
W ~33~1 W ~ ~~~~
#5 a4 T8 4SS5 650 Mean: 4SS5 650 20 4 (|#6 s J7 4SW6 -680 Mean: 3CXS-2 -300 80 1
v A2 4S5S4 620 580  4HS5 650 2.0 3 v K9843 5CXS-4-800 -660 4CXS-3 500 4.0 1
+ Q5432 Dif: 30 NS:2 3NN5 660 20 1 + Q652 Dif: 120 NS:-1 5SW5 650 0.0 2
» A654 IMP: 1 EW:-1  3NN4 630 20 2 » 64 IMP: 3 EW:4 5SE5 650 0.0 1
# K43 & Q92 4S54 620 1.0 1 ||s Q86432 & AK95 4SW5 650 0.0 7
v 864 v T95 4HS4 620 1.0 1 ||w 2 — v AQJT7 4SE5 650 0.0 2
¢ T98 * AJ76 3NS3 600 1.0 1 ||e J9 * K743 4SW6 680 -1.0 1
& J873 » QT2 3NN3 600 1.0 3 ||a QJ92 ~ 5CXS-4 800 -40 2
% ¢ VAN 4AJ765 3sS5 200 9.0 1 FOVAN T 5CXS-5  -1100 -10.0 1
N ~~553 v KQJ73 1S5S4 170 90 1||N 1 ~~~~ v 65
8§ ~~553 ¢K S 1~~~~ ¢AT8
E ~~~~~ & K9 E ~~~53 & AKT8753
W ~~~~~ W ~~~53
#7 » QJT6 2DE4 -130 Mean: 2DE4 130 80 2 ||#8 aT3 4SE4 -420 Mean: 3SE4 170 6.0 1
v J863 6CE7 -1390 -470  4CW7 190 7.0 1 v Q987 4SE4 -420 -410  4SE4 420 0.0 13
¢ 854 Dif: 1260 NsS:8 1NE6 240 60 3 ¢ QT752 Dif: 0 NS:0 4SE5 450 1.0 4
& QT IMP: 15 EW:14 1NE5 210 6.0 2 & 83 IMP: 0 EW:0
& A953 a2 1NE7 270 5.0 1 & KJ76 & AQ984
v Q4 + v AK97 3NW4 630 -40 1 ||eT4 v J53
*3 ¢ A9762 5CW7 640 -50 3 ||e A9 * KJ64
& K97642 S » A83 3NW5 660 -50 1 ||a& KJ742 a5
%o ¢ VAN o K874 3NE5 660 -50 2 ¢VAN 452
N ~~~~~ v T52 3NE7 720 60 1[N ~~1 ~~ & AK62
S ~~~~~ + KQJT 6CE7 1390 140 1 ||S ~~1~~ ¢ 83
E 7~~~5 aJ5 E ~~~42 a&AQT9%
W7~~~5 W ~~~42
#9 » KQ5 3CS3 110 Mean: 3NS4 430 80 2 (|#10 4 J75 1NS1 90 Mean: 1NS3 150 3.0 1
v AJ92 3SW-2200 90  3SW-2 200 30 1 v 84 1NS190 60  1NS2 120 20 3
* T94 Dif: -90 NS:1  2NN4 180 3.0 1 + K964 Dif: 0 NS:1  1NS1 90 1.0 1
» 963 IMP: -3 EW:-3 3CS3 110 1.0 1 & QT54 IMP: 0 EW:-1  1NS-1 100 -40 3
s AT8764 » 92 1NS2 120 1.0 1 || K842 & T963
v T4 v K853 2SW-1 100 00 4 ||v QT95 _I_ v AJ7
* J8 + KQ763 2DE-1 100 0.0 1 ||e QT7 ¢ 82
& JT7 & K4 2Cs2 90 00 1 » A9 & J872
o ¢VABN ,J3 1NS1 20 00 1 o ¢VABN 4 AQ
N 3~2~1 ¢Q76 3CSs-1 -50 40 2 [N 23 ~~1 v K632
S 3~2~1 ¢A52 4HN-2 100 50 1||S 23 ~~1 ¢AJS3
E ~~~1~ &AQ852 3CS-2 100 50 2 ||E ~~~~~ » K63
W ~~~1~ W ~~~~~




X AY 3z }\ —_
4 113&;«1}_@214%%%% ® ==> R4 4
2 NS: [EESF ,I%rﬁ}{(]?ﬁo) 19 1 5 NS: Fiﬁi? HﬁE(Fx‘iC) 37 VP:| 6.00 14 00| Total VP: 49.64 Rank:
EW: BE#ES BEESFRAC) -37 EW: M1t BREE(BR0) -1 IMP:| 14 26 4
S — — I
#1 » Q74 3DE3 -110 Mean: 2HS2 110 7.0 1 [[#2 » AJ97 4SN-3 -300 Mean: 5CN5 600 11.0 1
v J8 3HS-3-150 -200 2HS-1 50 40 1 v AT7 4SN4 620 90  4SN4 620 11.0 1
¢ J3 Dif: 40 NsS:3 3DE3 110 3.0 4 + 983 Dif: -920 NS:-9 1NE-4 200 3.0 1
& KQT874 IMP: 1 EW:-2 3CS-2 4100 3.0 1 » K82 IMP: -14 EW:-11 5DE-3 150 2.0 1
& AK8 #» T63 3CN-2 4100 3.0 1 T53 #» K86 4CN5 150 2.0 2
v QT64 v2 3HS-3 150 2.0 3 ||e K9864 I v5 2HE-3 150 2.0 1
+ A86 * KT9542 3DE4 4130 20 1 ||e KJ4 3 QT7652 3DE-1 50 1.0 7
& J95 » A62 3CN-3 4150 20 1 ||s Q6 » A74 3SN-1 100 -5.0 1
%+ VBN 4 J952 3NN-5 250 -20 1 o eVAN 4, Q42 2SN-1 4100 -50 1
N 1~~~ ~ ¢ AK9753 3NW3 400 -50 2|IN 5~331 » QJ32 2NS-1 100 -5.0 1
S 1~1~~ ¢Q7 4HXS-3 500 70 1(||S 5~331 A 4SN-3 300 9.0 1
E ~4~~3 &3 4HXS-4 800 -120 1 ||E ~1 ~~ ~ & JT953
W~4~~3 W ~1~~~
#3 » 86 3NE-1 100 Mean: 4HXW-1 200 7.0 1 ||# 4 » AQ 6CN6 1370 Mean: 6NN6 1440 110 3
v QJ64 4HXW-1200 -70  4HW-1 100 50 6 v AKJ9 6DS6 1370 910 6DS6 1370 100 2
¢ Ad43 Dif: -100 NS:5 3NE-1 100 50 1 ¢ KT3 Dif: 0 NS:10 6DN6 1370 100 2
& T763 IMP: -3 EW:-7 3HW-1 100 50 1 & KJ94 IMP: 0 EW:-10 6CS6 1370 100 1
& AQ53 a J7 2NN-2 100 1.0 1 ||a JT953 » K87642 6CN6 1370 100 4
v AKT975 v 32 3HW3 140  -20 1 ||e Q8654 + v T72 3NN6 690 6.0 1
* K6 ¢ T9752 2HW3 140 -20 1 ||e5 ¢ J74 6CS-1 100 140 1
& K & A985 3HW4 470 -30 2 ||s 76 aA 7NXN-1 200 -15.0 1
% ¢V BN 4 KT942 2HW4 470 -3.0 2 FOVAN , 7CXN-1 200 -150 3
N ~~~~~ v8 4HW4 620 110 2[IN 56 ~~6 ¢3
S 1~~~~ ¢QJ8 S 56 ~~4 ¢ AQ9862
E ~32~1 &QJ42 E ~~~~~ & QT8532
W ~33~1 W ~ ~~~~
#5 a4 T8 3NN3 600 Mean: 4SS5 650 20 4 (|#6 s J7 4CXS-3 -500 Mean: 3CXS-2 -300 80 1
v A2 4SS5650 580  4HS5 650 2.0 3 v K9843 4SW5 -650 -660 4CXS-3 500 4.0 1
+ Q5432 Dif: -50 NS:1  3NN5 660 20 1 + Q652 Dif: 150 NS:4 5SW5 650 0.0 2
» A654 IMP: -2 EW:-2 3NN4 630 20 2 » 64 IMP: 4 EW:0 5SE5 650 0.0 1
# K43 & Q92 4S54 620 1.0 1 ||s Q86432 & AK95 4SW5 650 0.0 7
v 864 v T95 4HS4 620 1.0 1 ||w 2 — v AQJT7 4SE5 650 0.0 2
¢ T98 * AJ76 3NS3 600 1.0 1 ||e J9 * K743 4SW6 680 -1.0 1
& J873 » QT2 3NN3 600 1.0 3 ||a QJ92 ~ 5CXS-4 800 -40 2
% ¢ VAN 4AJ765 3sS5 200 9.0 1 FOVAN T 5CXS-5  -1100 -10.0 1
N ~~553 v KQJ73 1S5S4 170 90 1||N 1 ~~~~ v 65
8§ ~~553 ¢K S 1~~~~ ¢AT8
E ~~~~~ & K9 E ~~~53 & AKT8753
W ~~~~~ W ~~~53
#7 » QJT6 2DE4 -130 Mean: 2DE4 130 80 2 ||#8 aT3 4SE4 -420 Mean: 3SE4 170 6.0 1
v J863 1NE6 -240 -470  4CW7 190 7.0 1 v Q987 4SE4 -420 -410  4SE4 420 0.0 13
¢ 854 Dif: 110 NS:8 1NE6 240 60 3 ¢ QT752 Dif: 0 NS:0 4SE5 450 1.0 4
& QT IMP: 3 EW:-6 1NE5 210 6.0 2 & 83 IMP: 0 EW:0
& A953 a2 1NE7 270 5.0 1 & KJ76 & AQ984
v Q4 + v AK97 3NW4 630 -40 1 ||eT4 v J53
*3 ¢ A9762 5CW7 640 -50 3 ||e A9 * KJ64
& K97642 S » A83 3NW5 660 -50 1 ||a& KJ742 a5
%o ¢ VAN o K874 3NE5 660 -50 2 ¢VAN 452
N ~~~~~ v T52 3NE7 720 60 1[N ~~1 ~~ & AK62
S ~~~~~ + KQJT 6CE7 1390 140 1 ||S ~~1~~ ¢ 83
E 7~~~5 aJ5 E ~~~42 a&AQT9%
W7~~~5 W ~~~42
#9 » KQ5 4HN-2 -100 Mean: 3NS4 430 80 2 (|#10 4 J75 1NS2 120 Mean: 1NS3 150 3.0 1
v AJ92 2NN4 180 90  3SW-2 200 30 1 v 84 1NS-1-100 60  1NS2 120 20 3
* T94 Dif: -280 NS:-5 2NN4 180 3.0 1 + K964 Dif: 220 NS:2 1NS1 90 1.0 1
» 963 IMP: -7 EW:-3 3CS3 110 1.0 1 & QT54 IMP: 6 EW:4 1NS-1 100 -40 3
s AT8764 » 92 1NS2 120 1.0 1 || K842 & T963
v T4 v K853 2SW-1 100 00 4 ||v QT95 _I_ v AJ7
* J8 + KQ763 2DE-1 100 0.0 1 ||e QT7 ¢ 82
& JT7 & K4 2Cs2 90 00 1 » A9 & J872
o ¢VABN ,J3 1NS1 20 00 1 o ¢VABN 4 AQ
N 3~2~1 ¢Q76 3CSs-1 -50 40 2 [N 23 ~~1 v K632
S 3~2~1 ¢A52 4HN-2 100 50 1||S 23 ~~1 ¢AJS3
E ~~~1~ &AQ852 3CS-2 100 50 2 ||E ~~~~~ » K63
W ~~~1~ W ~~~~~




X AY 33z }\ —_
4 113&;«1}_@214%%%% ® ==> R4 4
3 NS: S EHA ]ﬁﬁ%ﬁ(ﬁﬁ@ 24 1 NS: ?% ,,\m#E(EﬁO) 28 VP:| 0.90 19 10| Total VP: 17.26 Rank:
EW: B CHE BEIRSA(BHO) -28 EW: [REF FiH5(BAC) 24 IMP:| 3 42 17
S — I —
#1 » Q74 3CN-2 100 Mean: 2HS2 110 7.0 1 [[#2 » AJ97 3DE-1-50 Mean: 5CN5 600 11.0 1
v J8 3NW3 400 -200 2HS-1 50 40 1 v AT7 2NS-1100 90  4SN4 620 11.0 1
¢ J3 Dif: -300 NS:-5 3DE3 110 3.0 4 + 983 Dif: -150 NS:-5 1NE-4 200 3.0 1
& KQT874 IMP: -7 EW:-3 3CS-2 4100 3.0 1 » K82 IMP: -4 EW:1 5DE-3 150 2.0 1
& AK8 #» T63 3CN-2 4100 3.0 1 T53 #» K86 4CN5 150 2.0 2
v QT64 v2 3HS-3 150 2.0 3 ||e K9864 I v5 2HE-3 150 2.0 1
+ A86 * KT9542 3DE4 4130 20 1 ||e KJ4 3 QT7652 3DE-1 50 1.0 7
& J95 » A62 3CN-3 4150 20 1 ||s Q6 ~ A74 3SN-1 100 -5.0 1
®+VBN 4 J952 3NN-5 250 2.0 1 e VAN 4, Qa2 2SN-1 100 -50 1
N 1~~~ ~ ¢ AK9753 3NW3 400 -50 2|IN 5~331 » QJ32 2NS-1 100 -5.0 1
S 1~1~~ ¢Q7 4HXS-3 500 70 1(||S 5~331 A 4SN-3 300 9.0 1
E ~4~~3 &3 4HXS-4 800 -120 1 ||E ~1 ~~ ~ & JT953
W~4~~3 W ~1~~~
#3 » 86 3HW-1-100 Mean: 4HXW-1 200 7.0 1 ||# 4 » AQ 6DN6 -1370 Mean: 6NN6 1440 110 3
v QJ64 4HW-1-100 -70  4HW-1 100 50 6 v AKJ9 3NN6 -690 910  6DS6 1370 100 2
¢ A43 Dif: 0 NS:5 3NE-1 100 50 1 ¢ KT3 Dif: -680 NS:-6 6DNG6 1370 100 2
& T763 IMP: 0 EW:-5 3HW-1 100 50 1 & KJ94 IMP: -12 EW:-10 6CS6 1370 100 1
& AQ53 a J7 2NN-2 100 1.0 1 ||a JT953 » K87642 6CN6 1370 100 4
v AKT975 v 32 3HW3 140  -20 1 ||e Q8654 + v T72 3NN6 690 6.0 1
* K6 ¢ T9752 2HW3 140 -20 1 ||e5 ¢ J74 6CS-1 100 140 1
& K & A985 3HW4 470 -30 2 ||s 76 aA 7NXN-1 200 -15.0 1
% ¢V BN 4 KT942 2HW4 470 -3.0 2 *OIVAN , 7CXN-1 200 -150 3
N ~~~~~ v8 4HW4 620 110 2[IN 56 ~~6 ¢3
S 1~~~~ ¢QJ8 S 56 ~~4 ¢ AQ9862
E ~32~1 &QJ42 E ~~~~~ & QT8532
W ~33~1 W ~~~~~
#5 a4 T8 4SS5 -650 Mean: 4SS5 650 20 4 (|#6 s J7 4SW6 680 Mean: 3CXS-2 -300 80 1
v A2 4SS4 -620 580  4HS5 650 2.0 3 v K9843 5CXS-4 800 -660 4CXS-3 500 4.0 1
+ Q5432 Dif: -30 NS:1  3NN5 660 20 1 + Q652 Dif: -120 NS:-4 5SW5 650 0.0 2
» A654 IMP: -1 EW:-2 3NN4 630 20 2 » 64 IMP: -3 EW:1 5SE5 650 0.0 1
# K43 & Q92 4S54 620 1.0 1 ||s Q86432 & AK95 4SW5 650 0.0 7
v 864 v T95 4HS4 620 1.0 1 ||w 2 — v AQJT7 4SE5 650 0.0 2
¢ T98 * AJ76 3NS3 600 1.0 1 ||e J9 * K743 4SW6 680 -1.0 1
& J873 » QT2 3NN3 600 1.0 3 ||a QJ92 ~ 5CXS-4 800 -40 2
% ¢ VAN 4AJ765 3sS5 200 9.0 1 FOVAN T 5CXS-5  -1100 -10.0 1
N ~~ 553 ¢ KQJ73 1S5S4 170 90 1||N 1 ~~~~ v 65
8§ ~~553 ¢K S 1~~~~ ¢AT8
E ~~~~~ & K9 E ~~~53 & AKT8753
W ~~~~~ W ~~~53
#7 » QJT6 2DE4 130 Mean: 2DE4 130 80 2 ||#8 aT3 4SE4 420 Mean: 3SE4 170 6.0 1
v J863 6CE7 1390 -470  4CW7 190 7.0 1 v Q987 4SE4 420 -410 4SE4 420 0.0 13
¢ 854 Dif: -1260 NS:-14 1NE6 240 60 3 ¢ QT752 Dif: 0 NS:0 4SE5 450 1.0 4
& QT IMP: -15 EW:-8 1NE5 210 6.0 2 & 83 IMP: 0 EW:0
& A953 a2 1NE7 270 5.0 1 & KJ76 & AQ984
v Q4 + v AK97 3NW4 630 -40 1 ||eT4 v J53
*3 ¢ A9762 5CW7 640 -50 3 ||e A9 * KJ64
& K97642 S » A83 3NW5 660 -50 1 ||a& KJ742 a5
%o ¢ VAN o K874 3NE5 660 -50 2 ¢VAN 452
N ~~~~~ v T52 3NE7 720 60 1[N ~~1 ~~ & AK62
S ~~~~~ + KQJT 6CE7 1390 140 1 ||S ~~1~~ ¢ 83
E 7~~~5 aJ5 E ~~~42 a&AQT9%
W7~~~5 W ~~~42
#9 » KQ5 3CS3 -110 Mean: 3NS4 430 80 2 (|#10 4 J75 1NS1 -90 Mean: 1NS3 150 3.0 1
v AJ92 3SW-2-200 90  3SW-2 200 30 1 v 84 1NS1-90 60  1NS2 120 20 3
* T94 Dif: 90 NS:3 2NN4 180 3.0 1 + K964 Dif: 0 NS:1  1NS1 90 1.0 1
» 963 IMP: 3 EW:-1 3CS3 110 1.0 1 & QT54 IMP: 0 EW:-1  1NS-1 100 -40 3
s AT8764 » 92 1NS2 120 1.0 1 || K842 & T963
v T4 v K853 2SW-1 100 00 4 ||v QT95 _I_ v AJ7
* J8 + KQ763 2DE-1 100 0.0 1 ||e QT7 ¢ 82
& JT7 & K4 2Cs2 90 00 1 » A9 & J872
o ¢VABN ,J3 1NS1 20 00 1 o ¢VABN 4 AQ
N 3~2~1 ¢Q76 3CSs-1 -50 40 2 [N 23 ~~1 v K632
S 3~2~1 ¢A52 4HN-2 100 50 1||S 23 ~~1 ¢AJS3
E ~~~1~ &AQ852 3CS-2 100 50 2 ||E ~~~~~ » K63
W ~~~1~ W ~~~~~




X AY 3z }\ —_
4 113&;«1}_@214%%%% ® ==> R4 4
4 NS: 2552 %%75(]3?]0) 19 5 NS: EEI FilS‘C(F:ﬁC) 6 VP:| 156.52 : 4 48 | Total VP: 63.28 Rank:
EW: EEHi 2k J51EEAC) -6 EW: &30&E SIEUR(BRO) -1 IMP:| 36 18 1
S — I
#1 » Q74 2HS2 110 Mean: 2HS2 110 7.0 1 [[#2 » AJ97 5DE-3 150 Mean: 5CN5 600 11.0 1
v J8 3DE3 -110 -200 2HS-1 50 40 1 v AT7 2SN-1-100 90  4SN4 620 11.0 1
¢ J3 Dif: 220 NsS:7 3DE3 110 3.0 4 + 983 Dif: 250 NS:2 1NE-4 200 3.0 1
& KQT874 IMP: 6 EW:-3 3CS-2 4100 3.0 1 » K82 IMP: 6 EW:5 5DE-3 150 2.0 1
& AK8 #» T63 3CN-2 4100 3.0 1 T53 #» K86 4CN5 150 2.0 2
v QT64 v2 3HS-3 150 2.0 3 ||e K9864 I v5 2HE-3 150 2.0 1
+ A86 * KT9542 3DE4 4130 20 1 ||e KJ4 . QT7652 3DE-1 50 1.0 7
& J95 » A62 3CN-3 4150 20 1 ||s Q6 » A74 3SN-1 100 -5.0 1
%+ VBN 4 J952 3NN-5 250 -20 1 o eVAN 4, Q42 2SN-1 4100 -50 1
N 1~~~ ~ ¢ AK9753 3NW3 400 -50 2|IN 5~331 v QJ32 2NS-1 100 -5.0 1
S 1~1~~ ¢Q7 4HXS-3 500 70 1||S 5~331 4SN-3 300 9.0 1
E ~4~~3 &3 4HXS-4 800 -12.0 1 ||E ~1 ~~ ~ JT953
W~4~~3 W ~1~~~
#3 » 86 4HW4 -620 Mean: 4HXW-1 200 7.0 1 ||# 4 » AQ 6DS6 1370 Mean: 6NN6 1440 110 3
v QJ64 4HW-1100 -70  4HW-1 100 50 6 v AKJ9 6CN6 1370 910  6DS6 1370 100 2
¢ A43 Dif: -720 NS:-11 3NE-1 100 50 1 ¢ KT3 Dif: 0 NS:10 6DN6 1370 100 2
& T763 IMP: -12 EW:-5 3HW-1 100 50 1 & KJ94 IMP: 0 EW:-10 6CS6 1370 100 1
& AQ53 a J7 2NN-2 100 1.0 1 ||a JT953 ~ K87642 6CN6 1370 100 4
v AKT975 v 32 3HW3 140  -20 1 ||e Q8654 + v T72 3NN6 690 6.0 1
* K6 ¢ T9752 2HW3 140 -20 1 ||e5 ¢ J74 6CS-1 100 140 1
& K & A985 3HW4 470 -30 2 ||s 76 aA 7NXN-1 200 -15.0 1
% ¢V BN 4 KT942 2HW4 470 -3.0 2 FOVAN , 7CXN-1 200 -150 3
N ~~~~~ v8 4HW4 620 110 2[IN 56 ~~6 ¢3
S 1~~~~ ¢QJ8 S 56 ~~4 ¢ AQ9862
E ~32~1 &QJ42 E ~~~~~ & QT8532
W ~33~1 W ~ ~~~~
#5 a4 T8 4SS5 650 Mean: 4SS5 650 20 4 (|#6 s J7 3CXS-2 -300 Mean: 3CXS-2 -300 80 1
v A2 3NN4 630 580  4HSS5 650 2.0 3 v K9843 4SW5 -650 -660 4CXS-3 500 4.0 1
+ Q5432 Dif: 20 NS:2 3NN5 660 20 1 + Q652 Dif: 350 NS:8 5SW5 650 0.0 2
» A654 IMP: 1 EW:-2 3NN4 630 20 2 » 64 IMP: 8 EW:0 5SE5 650 0.0 1
# K43 & Q92 4S54 620 1.0 1 ||s Q86432 & AK95 4SW5 650 0.0 7
v 864 v T95 4HS4 620 1.0 1 ||w 2 — v AQJT7 4SE5 650 0.0 2
¢ T98 * AJ76 3NS3 600 1.0 1 ||e J9 * K743 4SW6 680 -1.0 1
& J873 » QT2 3NN3 600 1.0 3 ||a QJ92 ~ 5CXS-4 800 -40 2
% ¢ VAN 4AJ765 3sS5 200 9.0 1 FOVAN T 5CXS-5  -1100 -10.0 1
N ~~553 v KQJ73 1S5S4 170 90 1||N 1 ~~~~ v 65
8§ ~~553 ¢K S 1~~~~ ¢AT8
E ~~~~~ & K9 E ~~~53 & AKT8753
W ~~~~~ W ~~~53
#7 » QJT6 1NE5 -210 Mean: 2DE4 130 80 2 ||#8 aT3 4SE5 -450 Mean: 3SE4 170 6.0 1
v J863 3NE5 -660 -470  4CW7 190 7.0 1 v Q987 4SE4 -420 -410  4SE4 420 0.0 13
¢ 854 Dif: 450 NS:6 1NE6 240 60 3 ¢ QT752 Dif: -30 NS:-1 4SE5 450 1.0 4
& QT IMP: 10 EW:5 1NE5 210 6.0 2 & 83 IMP: -1 EW:0
& A953 a2 1NE7 270 5.0 1 » KJ76 & AQ984
v Q4 + v AK97 3NW4 630 -40 1 ||eT4 v J53
*3 ¢ A9762 5CW7 640 -50 3 ||e A9 * KJ64
& K97642 S » A83 3NW5 660 -50 1 ||a& KJ742 a5
%o ¢ VAN o K874 3NE5 660 -50 2 ¢VAN 452
N ~~~~~ v T52 3NE7 720 60 1[N ~~1 ~~ & AK62
S ~~~~~ + KQJT 6CE7 1390 140 1 ||S ~~1~~ ¢ 83
E 7~~~5 aJ5 E ~~~42 a&AQT9%
W7~~~5 W ~~~42
#9 » KQ5 2SW-1 100 Mean: 3NS4 430 80 2 (|#10 4 J75 1NS-1-100 Mean: 1NS3 150 3.0 1
v AJ92 3CS-2-100 90  3SW-2 200 30 1 v 84 1NS190 60  1NS2 120 20 3
* T94 Dif: 200 NS:0 2NN4 180 3.0 1 + K964 Dif: -190 NS:-4 1NS1 90 1.0 1
» 963 IMP: 5 EW:5 3CS3 110 1.0 1 » QT54 IMP: -5 EW:-1 1NS-1 100 -40 3
s AT8764 » 92 1NS2 120 1.0 1 || K842 & T963
v T4 v K853 2SW-1 100 00 4 ||v QT95 _I_ v AJ7
* J8 + KQ763 2DE-1 100 0.0 1 ||e QT7 ¢ 82
& JT7 & K4 2Cs2 90 00 1 » A9 » J872
o ¢VABN ,J3 1NS1 20 00 1 o ¢VABN 4 AQ
N 3~2~1 ¢Q76 3CSs-1 -50 40 2 [N 23 ~~1 v K632
S 3~2~1 ¢A52 4HN-2 100 50 1||S 23 ~~1 ¢AJS3
E ~~~1~ &AQ852 3CS-2 100 50 2 ||E ~~~~~ » K63
W ~~~1~ W ~~~~~




X AY 3z }\ —_
4 113&;«1}_@214%%%% ® ==> R4 4
5 NS: FER lIij‘{(]%ﬁC) [ 4 NS: 7?%?‘65 %i’éﬂﬁrn(ﬁﬁO) 19 VP:| 4.48 15 52| Total VP: 48.28 Rank:
EW: & 0& EFBEREH0) -19 EW: EEH JLTIEBAC) -6 IMP:| 18 36 5
S — e —
#1 » Q74 2HS2 -110 Mean: 2HS2 110 7.0 1 [[#2 » AJ97 5DE-3 -150 Mean: 5CN5 600 11.0 1
v J8 3DE3 110 -200 2HS-1 50 40 1 v AT7 2SN-1100 90  4SN4 620 11.0 1
¢ J3 Dif: -220 NS:3 3DE3 110 3.0 4 + 983 Dif: -250 NS:-5 1NE-4 200 3.0 1
& KQT874 IMP: -6 EW:-7 3CS-2 4100 3.0 1 » K82 IMP: -6 EW:-2 5DE-3 150 2.0 1
& AK8 #» T63 3CN-2 4100 3.0 1 T53 #» K86 4CN5 150 2.0 2
v QT64 v2 3HS-3 150 2.0 3 ||e K9864 I v5 2HE-3 150 2.0 1
+ A86 * KT9542 3DE4 4130 20 1 ||e KJ4 3 QT7652 3DE-1 50 1.0 7
& J95 » A62 3CN-3 4150 20 1 ||s Q6 » A74 3SN-1 100 -5.0 1
%+ VBN 4 J952 3NN-5 250 -20 1 o eVAN 4, Q42 2SN-1 4100 -50 1
N 1~~~ ~ ¢ AK9753 3NW3 400 -50 2|IN 5~331 v QJ32 2NS-1 100 -5.0 1
S 1~1~~ ¢Q7 4HXS-3 500 70 1||S 5~331 4SN-3 300 9.0 1
E ~4~~3 &3 4HXS-4 800 -12.0 1 ||E ~1 ~~ ~ JT953
W~4~~3 W ~1~~~
#3 » 86 4HW4 620 Mean: 4HXW-1 200 7.0 1 ||# 4 » AQ 6DS6 -1370 Mean: 6NN6 1440 110 3
v QJ64 4HW-1-100 -70  4HW-1 100 50 6 v AKJ9 6CN6 -1370 910 6DS6 1370 100 2
¢ Ad43 Dif: 720 NS:5 3NE-1 100 50 1 ¢ KT3 Dif: 0 NS:10 6DN6 1370 100 2
& T763 IMP: 12 EW:11  3HW-1 100 50 1 & KJ94 IMP: 0 EW:-10 6CS6 1370 100 1
& AQ53 a J7 2NN-2 100 1.0 1 ||a JT953 » K87642 6CN6 1370 100 4
v AKT975 v 32 3HW3 140  -20 1 ||e Q8654 + v T72 3NN6 690 6.0 1
+ K6 ¢ T9752 2HW3 140 -20 1 ||e5 ¢ J74 6CS-1 100 140 1
& K & A985 3HW4 470 -30 2 ||s 76 aA 7NXN-1 200 -15.0 1
% ¢V BN 4 KT942 2HW4 470 -3.0 2 FOVAN , 7CXN-1 200 -150 3
N ~~~~~ v8 4HW4 620 110 2[IN 56 ~~6 ¢3
S 1~~~~ ¢QJ8 S 56 ~~4 ¢ AQ9862
E ~32~1 &QJ42 E ~~~~~ & QT8532
W ~33~1 W ~ ~~~~
#5 a4 T8 4SS5 -650 Mean: 4SS5 650 20 4 (|#6 s J7 3CXS-2 300 Mean: 3CXS-2 -300 80 1
v A2 3NN4 -630 580  4HS5 650 2.0 3 v K9843 4SW5 650 -660  4CXS-3 500 4.0 1
+ Q5432 Dif: -20 NS:2 3NN5 660 20 1 + Q652 Dif: -350 NS:0 5SW5 650 0.0 2
» A654 IMP: -1 EW:-2 3NN4 630 20 2 » 64 IMP: -8 EW:-8 5SE5 650 0.0 1
# K43 & Q92 4S54 620 1.0 1 ||s Q86432 & AK95 4SW5 650 0.0 7
v 864 v T95 4HS4 620 1.0 1 ||w 2 — v AQJT7 4SE5 650 0.0 2
¢ T98 * AJ76 3NS3 600 1.0 1 ||e J9 * K743 4SW6 680 -1.0 1
& J873 » QT2 3NN3 600 1.0 3 ||a QJ92 ~ 5CXS-4 800 -40 2
% ¢ VAN 4AJ765 3sS5 200 9.0 1 FOVAN T 5CXS-5  -1100 -10.0 1
N ~~553 v KQJ73 1S5S4 170 90 1||N 1 ~~~~ v 65
8§ ~~553 ¢K S 1~~~~ ¢AT8
E ~~~~~ & K9 E ~~~53 & AKT8753
W ~~~~~ W ~~~53
#7 » QJT6 1NE5 210 Mean: 2DE4 130 80 2 ||#8 aT3 4SE5 450 Mean: 3SE4 170 6.0 1
v J863 3NE5 660 -470  4CW7 190 7.0 1 v Q987 4SE4 420 -410  4SE4 420 0.0 13
¢ 854 Dif: -450 NS:-5 1NE6 240 60 3 ¢ QT752 Dif: 30 NS:0 4SE5 450 1.0 4
& QT IMP: -10 EW:-6 1NE5 210 6.0 2 & 83 :1 EW:1
& A953 a2 1NE7 270 5.0 1 » KJ76 & AQ984
v Q4 + v AK97 3NW4 630 -40 1 ||eT4 v J53
*3 ¢ A9762 5CW7 640 -50 3 ||e A9 * KJ64
& K97642 S » A83 3NW5 660 -50 1 ||a& KJ742 a5
%o ¢ VAN o K874 3NE5 660 -50 2 ¢VAN 452
N ~~~~~ v T52 3NE7 720 60 1[N ~~1 ~~ & AK62
S ~~~~~ + KQJT 6CE7 1390 140 1 ||S ~~1~~ ¢ 83
E 7~~~5 aJ5 E ~~~42 a&AQT9%
W7~~~5 W ~~~42
#9 » KQ5 2SW-1-100 Mean: 3NS4 430 80 2 (|#10 4 J75 1NS-1 100 Mean: 1NS3 150 3.0 1
v AJ92 3CS-2100 90  3SW-2 200 30 1 v 84 1NS1-90 60  1NS2 120 20 3
* T94 Dif: -200 NS:-5 2NN4 180 3.0 1 + K964 Dif: 190 NS:1  1NS1 90 1.0 1
» 963 IMP: -5 EW:0 3CS3 110 1.0 1 & QT54 IMP: 5 EW:4 1NS-1 100 -40 3
s AT8764 » 92 1NS2 120 1.0 1 || K842 & T963
v T4 v K853 2SW-1 100 00 4 ||v QT95 _I_ v AJ7
* J8 + KQ763 2DE-1 100 0.0 1 ||e QT7 ¢ 82
& JT7 & K4 2Cs2 90 00 1 » A9 & J872
o ¢VABN ,J3 1NS1 20 00 1 o ¢VABN 4 AQ
N 3~2~1 ¢Q76 3CSs-1 -50 40 2 [N 23 ~~1 v K632
S 3~2~1 ¢A52 4HN-2 100 50 1||S 23 ~~1 ¢AJS3
E ~~~1~ &AQ852 3CS-2 100 50 2 ||E ~~~~~ » K63
W ~~~1~ W ~~~~~




X AY 3z }\ —_
4 113&;«1}_@214%%%% ® ==> R4 4
6 NS: 1281k EEE (F;ﬁo) 234 7 NS: Eﬂ =1 éﬁﬁ?&(Fx‘iC) 0 VP:| 2.00 18 00| Total VP: 26.59 Rank:
EW: PR =EHEEAC) 0 EW: HER 5Ei5(B0) 34 IMP:| 1 32 15
S — — I —
#1 » Q74 3DE3 -110 Mean: 2HS2 110 7.0 1 [[#2 » AJ97 3DE-1 50 Mean: 5CN5 600 11.0 1
v J8 3HS-3-150 -200 2HS-1 50 40 1 v AT7 3DE-150 90  4SN4 620 11.0 1
¢ J3 Dif: 40 NsS:3 3DE3 110 3.0 4 + 983 Dif: 0 NS:-1 1NE-4 200 3.0 1
& KQT874 IMP: 1 EW:-2 3CS-2 4100 3.0 1 » K82 IMP: 0 EW:1 5DE-3 150 2.0 1
& AK8 #» T63 3CN-2 4100 3.0 1 T53 #» K86 4CN5 150 2.0 2
v QT64 v2 3HS-3 150 2.0 3 ||e K9864 I v5 2HE-3 150 2.0 1
+ A86 * KT9542 3DE4 4130 20 1 ||e KJ4 3 QT7652 3DE-1 50 1.0 7
& J95 » A62 3CN-3 4150 20 1 ||s Q6 » A74 3SN-1 100 -5.0 1
%+ VBN 4 J952 3NN-5 250 -20 1 o eVAN 4, Q42 2SN-1 4100 -50 1
N 1~~~ ~ ¢ AK9753 3NW3 400 -50 2|IN 5~331 » QJ32 2NS-1 100 -5.0 1
S 1~1~~ ¢Q7 4HXS-3 500 70 1(||S 5~331 A 4SN-3 300 9.0 1
E ~4~~3 &3 4HXS-4 800 -120 1 ||E ~1 ~~ ~ & JT953
W~4~~3 W ~1~~~
#3 » 86 2HW4 -170 Mean: 4HXW-1 200 7.0 1 ||# 4 » AQ 7CXN-1-200 Mean: 6NN6 1440 110 3
v QJ64 2NN-2 -100 -70  4HW-1 100 50 6 v AKJ9 7CXN-1-200 910 6DS6 1370 100 2
¢ A43 Dif: -70 NS:-3 3NE-1 100 50 1 ¢ KT3 Dif: 0 NS:-15 6DN6 1370 100 2
& T763 IMP: -2 EW:1  3HW-1 100 50 1 & KJ94 IMP: 0 EW:15 6CS6 1370 100 1
& AQ53 a J7 2NN-2 100 1.0 1 ||a JT953 » K87642 6CN6 1370 100 4
v AKT975 v 32 3HW3 140  -20 1 ||e Q8654 + v T72 3NN6 690 6.0 1
+ K6 ¢ T9752 2HW3 140 -20 1 ||e5 ¢ J74 6CS-1 100 140 1
& K & A985 3HW4 470 -30 2 ||s 76 aA 7NXN-1 200 -15.0 1
% ¢V BN 4 KT942 2HW4 470 -3.0 2 FOVAN , 7CXN-1 200 -150 3
N ~~~~~ v8 4HW4 620 110 2[IN 56 ~~6 ¢3
S 1~~~~ ¢QJ8 S 56 ~~4 ¢ AQ9862
E ~32~1 &QJ42 E ~~~~~ & QT8532
W ~33~1 W ~ ~~~~
#5 a4 T8 1SS4 170 Mean: 4SS5 650 20 4 (|#6 s J7 4SW5 -650 Mean: 3CXS-2 -300 80 1
v A2 4HS4 620 580  4HS5 650 2.0 3 v K9843 4SW5 -650 -660 4CXS-3 500 4.0 1
+ Q5432 Dif: -450 NS:-9 3NN5 660 20 1 + Q652 Dif: 0 NS:0 5SW5 650 0.0 2
» A654 IMP: -10 EW:-1 3NN4 630 20 2 » 64 IMP: 0 EW:0 5SE5 650 0.0 1
# K43 & Q92 4S54 620 1.0 1 ||s Q86432 & AK95 4SW5 650 0.0 7
v 864 v T95 4HS4 620 1.0 1 ||w 2 — v AQJT7 4SE5 650 0.0 2
¢ T98 * AJ76 3NS3 600 1.0 1 ||e J9 * K743 4SW6 680 -1.0 1
& J873 » QT2 3NN3 600 1.0 3 ||a QJ92 ~ 5CXS-4 800 -40 2
% ¢ VAN 4AJ765 3sS5 200 9.0 1 FOVAN T 5CXS-5  -1100 -10.0 1
N ~~553 v KQJ73 1S5S4 170 90 1||N 1 ~~~~ v 65
8§ ~~553 ¢K S 1~~~~ ¢AT8
E ~~~~~ & K9 E ~~~53 & AKT8753
W ~~~~~ W ~~~53
#7 » QJT6 5CW7 -640 Mean: 2DE4 130 80 2 ||#8 aT3 4SE5 -450 Mean: 3SE4 170 6.0 1
v J863 1NE5 -210 -470  4CW7 190 7.0 1 v Q987 4SE5 -450 -410  4SE4 420 0.0 13
¢ 854 Dif: -430 NS:-5 1NE6 240 60 3 ¢ QT752 Dif: 0 NS:-1 4SE5 450 1.0 4
& QT IMP: -10 EW:-6 1NE5 210 6.0 2 & 83 IMP: 0 EW:1
& A953 a2 1NE7 270 5.0 1 & KJ76 & AQ984
v Q4 + v AK97 3NW4 630 -40 1 ||eT4 v J53
*3 ¢ A9762 5CW7 640 -50 3 ||e A9 * KJ64
& K97642 S » A83 3NW5 660 -50 1 ||a& KJ742 a5
%o ¢ VAN o K874 3NE5 660 -50 2 ¢VAN 452
N ~~~~~ v T52 3NE7 720 60 1[N ~~1 ~~ & AK62
S ~~~~~ + KQJT 6CE7 1390 140 1 ||S ~~1~~ ¢ 83
E 7~~~5 aJ5 E ~~~42 a&AQT9%
W7~~~5 W ~~~42
#9 » KQ5 3CS-1-50 Mean: 3NS4 430 80 2 (|#10 4 J75 1NS1 90 Mean: 1NS3 150 3.0 1
v AJ92 3NS4430 90  3SW-2 200 30 1 v 84 1NS190 60  1NS2 120 20 3
* T94 Dif: -480 NS:-4 2NN4 180 3.0 1 + K964 Dif: 0 NS:1  1NS1 90 1.0 1
» 963 IMP: -10 EW:-8 3CS3 110 1.0 1 & QT54 IMP: 0 EW:-1  1NS-1 100 -40 3
s AT8764 » 92 1NS2 120 1.0 1 || K842 & T963
v T4 v K853 2SW-1 100 00 4 ||v QT95 _I_ v AJ7
* J8 + KQ763 2DE-1 100 0.0 1 ||e QT7 ¢ 82
& JT7 & K4 2Cs2 90 00 1 » A9 & J872
o ¢VABN ,J3 1NS1 20 00 1 o ¢VABN 4 AQ
N 3~2~1 ¢Q76 3CSs-1 -50 40 2 [N 23 ~~1 v K632
S 3~2~1 ¢A52 4HN-2 100 50 1||S 23 ~~1 ¢AJS3
E ~~~1~ &AQ852 3CS-2 100 50 2 ||E ~~~~~ » K63
W ~~~1~ W ~~~~~




X AY 3z }\ —_
4 113&;«1}_@214%%%% ® ==> R4 4
7 NS: EiEE ;;ﬁ;e(]%ﬁ@ 0 6 NS: f%kdl& ié}é?‘:(f%‘iO) -34 VP:| 18.00 : 2 00 | Total VP: 45.87 Rank:
EW: JF;F,Q‘\M ig%,ﬁ(ﬁﬁo) 34 EW: [REE Zimt(BAC) 0 IMP:| 32 : 1 8
I —
#1 'y Q74 3DE3 110 Mean: 2HS2 110 7.0 1 [[#2 » AJ97 3DE-1 -50 Mean: 5CN5 600 11.0 1
v J8 3HS-3150 -200 2HS-1 50 40 1 v AT7 3DE-1-50 90  4SN4 620 11.0 1
¢ J3 Dif: -40 NS:2 3DE3 110 3.0 4 + 983 Dif: 0 NS:-1 1NE-4 200 3.0 1
& KQT874 IMP: -1 EW:-3 3CS-2 4100 3.0 1 » K82 IMP: 0 EW:1 5DE-3 150 2.0 1
& AK8 #» T63 3CN-2 4100 3.0 1 T53 #» K86 4CN5 150 2.0 2
v QT64 v2 3HS-3 150 2.0 3 ||e K9864 I v5 2HE-3 150 2.0 1
+ A86 * KT9542 3DE4 4130 20 1 ||e KJ4 . QT7652 3DE-1 50 1.0 7
& J95 » A62 3CN-3 4150 20 1 ||s Q6 » A74 3SN-1 100 -5.0 1
%+ VBN 4 J952 3NN-5 250 -20 1 o eVAN 4, Q42 2SN-1 4100 -50 1
N 1~~~ ~ ¢ AK9753 3NW3 400 -50 2|IN 5~331 » QJ32 2NS-1 100 -5.0 1
S 1~1~~ ¢Q7 4HXS-3 500 70 1(||S 5~331 A 4SN-3 300 9.0 1
E ~4~~3 &3 4HXS-4 800 -120 1 ||E ~1 ~~ ~ & JT953
W~4~~3 W ~1~~~
#3 » 86 2HW4 170 Mean: 4HXW-1 200 7.0 1 ||# 4 » AQ 7CXN-1200 Mean: 6NN6 1440 110 3
v QJ64 2NN-2 100 -70  4HW-1 100 50 6 v AKJ9 7CXN-1200 910 6DS6 1370 100 2
¢ A43 Dif: 70 NS:-1  3NE-1 100 50 1 ¢ KT3 Dif: 0 NS:-15 6DN6 1370 100 2
& T763 IMP: 2 EW:3 3HW-1 100 50 1 & KJ94 IMP: 0 EW:15 6CS6 1370 100 1
& AQ53 a J7 2NN-2 100 1.0 1 ||a JT953 » K87642 6CN6 1370 100 4
v AKT975 v 32 3HW3 140  -20 1 ||e Q8654 + v T72 3NN6 690 6.0 1
* K6 ¢ T9752 2HW3 140 -20 1 ||e5 ¢ J74 6CS-1 100 140 1
& K & A985 3HW4 470 -30 2 ||s 76 aA 7NXN-1 200 -15.0 1
% ¢V BN 4 KT942 2HW4 470 -3.0 2 FOVAN , 7CXN-1 200 -150 3
N ~~~~~ v8 4HW4 620 110 2[IN 56 ~~6 ¢3
S 1~~~~ ¢QJ8 S 56 ~~4 ¢ AQ9862
E ~32~1 &QJ42 E ~~~~~ & QT8532
W ~33~1 W ~ ~~~~
#5 a4 T8 1SS4 -170 Mean: 4SS5 650 20 4 (|#6 s J7 4SW5 650 Mean: 3CXS-2 -300 80 1
v A2 4HS4 -620 580  4HS5 650 2.0 3 v K9843 4SW5 650 -660  4CXS-3 500 4.0 1
+ Q5432 Dif: 450 NS:1  3NN5 660 20 1 + Q652 Dif: 0 NS:0 5SW5 650 0.0 2
» A654 IMP: 10 EW:9 3NN4 630 20 2 » 64 IMP: 0 EW:0 5SE5 650 0.0 1
# K43 & Q92 4S54 620 1.0 1 ||s Q86432 & AK95 4SW5 650 0.0 7
v 864 v T95 4HS4 620 1.0 1 ||w 2 — v AQJT7 4SE5 650 0.0 2
¢ T98 * AJ76 3NS3 600 1.0 1 ||e J9 * K743 4SW6 680 -1.0 1
& J873 » QT2 3NN3 600 1.0 3 ||a QJ92 ~ 5CXS-4 800 -40 2
% ¢ VAN 4AJ765 3sS5 200 9.0 1 FOVAN T 5CXS-5  -1100 -10.0 1
N ~~553 v KQJ73 1S5S4 170 90 1||N 1 ~~~~ v 65
8§ ~~553 ¢K S 1~~~~ ¢AT8
E ~~~~~ & K9 E ~~~53 & AKT8753
W ~~~~~ W ~~~53
#7 » QJT6 5CW?7 640 Mean: 2DE4 130 80 2 ||#8 aT3 4SE5 450 Mean: 3SE4 170 6.0 1
v J863 1NE5 210 -470  4CW7 190 7.0 1 v Q987 4SE5 450 -410  4SE4 420 0.0 13
¢ 854 Dif: 430 NS:6 1NE6 240 60 3 ¢ QT752 Dif: 0 NS:-1 4SE5 450 1.0 4
& QT IMP: 10 EW:5 1NE5 210 6.0 2 & 83 IMP: 0 EW:1
& A953 a2 1NE7 270 5.0 1 » KJ76 & AQ984
v Q4 + v AK97 3NW4 630 -40 1 ||eT4 v J53
*3 ¢ A9762 5CW7 640 -50 3 ||e A9 * KJ64
& K97642 S » A83 3NW5 660 -50 1 ||a& KJ742 a5
%o ¢ VAN o K874 3NE5 660 -50 2 ¢VAN 452
N ~~~~~ v T52 3NE7 720 60 1[N ~~1 ~~ & AK62
S ~~~~~ + KQJT 6CE7 1390 140 1 ||S ~~1~~ ¢ 83
E 7~~~5 aJ5 E ~~~42 a&AQT9%
W7~~~5 W ~~~42
#9 » KQ5 3CS-150 Mean: 3NS4 430 80 2 (|#10 4 J75 1NS1 -90 Mean: 1NS3 150 3.0 1
v AJ92 3NS4-430 90  3SW-2 200 30 1 v 84 1NS1-90 60  1NS2 120 20 3
* T94 Dif: 480 NS:8 2NN4 180 3.0 1 + K964 Dif: 0 NS:1  1NS1 90 1.0 1
» 963 IMP: 10 EW:4 3CS3 110 1.0 1 & QT54 IMP: 0 EW:-1  1NS-1 100 -40 3
s AT8764 » 92 1NS2 120 1.0 1 || K842 & T963
v T4 v K853 2SW-1 100 00 4 ||v QT95 _I_ v AJ7
* J8 + KQ763 2DE-1 100 0.0 1 ||e QT7 ¢ 82
& JT7 & K4 2Cs2 90 00 1 » A9 » J872
o ¢VABN ,J3 1NS1 20 00 1 o ¢VABN 4 AQ
N 3~2~1 ¢Q76 3CSs-1 -50 40 2 [N 23 ~~1 v K632
S 3~2~1 ¢A52 4HN-2 100 50 1||S 23 ~~1 ¢AJS3
E ~~~1~ &AQ852 3CS-2 100 50 2 ||E ~~~~~ » K63
W ~~~1~ W ~~~~~




X AY 3z }\ —_
4 113&;«1}_@214%%%% ® ==> R4 4
8 NS: PRELHE 5’5)@%(]35]0)9 1 O §J,4=7J< EEEJE(F:ﬁC) -24 VP:| 18.30 : 1 70 | Total VP: 46.90 Rank:
EW: ﬁ%}l@ CRZEAC) 29 EW: gl3%K 2BE55(BAO) -9) IMP:| 43 10 7
I —
#1 'y Q74 3NN-5 -250 Mean: 2HS2 110 7.0 1 [[#2 » AJ97 3DE-1 50 Mean: 5CN5 600 11.0 1
v J8 3NW3 -400 -200 2HS-1 50 40 1 v AT7 1NE-4200 90  4SN4 620 11.0 1
¢ J3 Dif: 150 NS:-2 3DE3 110 3.0 4 + 983 Dif: -150 NS:-1 1NE-4 200 3.0 1
& KQT874 IMP: 4 EW:5 3CS-2 4100 3.0 1 » K82 IMP: -4 EW:-3 5DE-3 150 2.0 1
& AK8 #» T63 3CN-2 4100 3.0 1 T53 #» K86 4CN5 150 2.0 2
v QT64 v2 3HS-3 150 2.0 3 ||e K9864 I v5 2HE-3 150 2.0 1
+ A86 * KT9542 3DE4 4130 20 1 ||e KJ4 3 QT7652 3DE-1 50 1.0 7
& J95 » A62 3CN-3 4150 20 1 ||s Q6 » A74 3SN-1 100 -5.0 1
%+ VBN 4 J952 3NN-5 250 -20 1 o eVAN 4, Q42 2SN-1 4100 -50 1
N 1~~~ ~ ¢ AK9753 3NW3 400 -50 2|IN 5~331 » QJ32 2NS-1 100 -5.0 1
S 1~1~~ ¢Q7 4HXS-3 500 70 1(||S 5~331 A 4SN-3 300 9.0 1
E ~4~~3 &3 4HXS-4 800 -120 1 ||E ~1 ~~ ~ & JT953
W~4~~3 W ~1~~~
#3 » 86 3HW4 -170 Mean: 4HXW-1 200 7.0 1 ||# 4 » AQ 6CN6 1370 Mean: 6NN6 1440 110 3
v QJ64 4HW4 -620 -70  4HW-1 100 50 6 v AKJ9 7NXN-1 -200 910  6DS6 1370 100 2
¢ Ad43 Dif: 450 NS:-3 3NE-1 100 50 1 ¢ KT3 Dif: 1570 NS:10 6DN6 1370 100 2
& T763 IMP: 10 EW:11  3HW-1 100 50 1 & KJ94 IMP: 17 EW:15 6CS6 1370 100 1
& AQ53 a J7 2NN-2 100 1.0 1 ||a JT953 » K87642 6CN6 1370 100 4
v AKT975 v 32 3HW3 140  -20 1 ||e Q8654 + v T72 3NN6 690 6.0 1
* K6 ¢ T9752 2HW3 140 -20 1 ||e5 ¢ J74 6CS-1 100 140 1
& K & A985 3HW4 470 -30 2 ||s 76 aA 7NXN-1 200 -15.0 1
% ¢V BN 4 KT942 2HW4 470 -3.0 2 FOVAN , 7CXN-1 200 -150 3
N ~~~~~ v8 4HW4 620 110 2[IN 56 ~~6 ¢3
S 1~~~~ ¢QJ8 S 56 ~~4 ¢ AQ9862
E ~32~1 &QJ42 E ~~~~~ & QT8532
W ~33~1 W ~ ~~~~
#5 a4 T8 3NN5 660 Mean: 4SS5 650 20 4 (|#6 s J7 4SE5 -650 Mean: 3CXS-2 -300 80 1
v A2 3NN3 600 580  4HS5 650 2.0 3 v K9843 5SW5 -650 -660 4CXS-3 500 4.0 1
+ Q5432 Dif: 60 NS:2 3NN5 660 20 1 + Q652 Dif: 0 NS:0 5SW5 650 0.0 2
» A654 IMP: 2 EW:-1 3NN4 630 20 2 » 64 IMP: 0 EW:0 5SE5 650 0.0 1
# K43 & Q92 4S54 620 1.0 1 ||s Q86432 & AK95 4SW5 650 0.0 7
v 864 v T95 4HS4 620 1.0 1 ||w 2 — v AQJT7 4SE5 650 0.0 2
¢ T98 * AJ76 3NS3 600 1.0 1 ||e J9 * K743 4SW6 680 -1.0 1
& J873 » QT2 3NN3 600 1.0 3 ||a QJ92 ~ 5CXS-4 800 -40 2
% ¢ VAN 4AJ765 3sS5 200 9.0 1 FOVAN T 5CXS-5  -1100 -10.0 1
N ~~553 v KQJ73 1S5S4 170 90 1||N 1 ~~~~ v 65
8§ ~~553 ¢K S 1~~~~ ¢AT8
E ~~~~~ & K9 E ~~~53 & AKT8753
W ~~~~~ W ~~~53
#7 » QJT6 1NE6 -240 Mean: 2DE4 130 80 2 ||#8 aT3 4SE5 -450 Mean: 3SE4 170 6.0 1
v J863 3NW4 -630 -470 4CW7 190 7.0 1 v Q987 4SE4 -420 -410  4SE4 420 0.0 13
¢ 854 Dif: 390 NS:6 1NE6 240 60 3 ¢ QT752 Dif: -30 NS:-1 4SE5 450 1.0 4
& QT IMP: 9 EW:4 1NE5 210 6.0 2 & 83 IMP: -1 EW:0
& A953 a2 1NE7 270 5.0 1 » KJ76 & AQ984
v Q4 + v AK97 3NW4 630 -40 1 ||eT4 v J53
*3 ¢ A9762 5CW7 640 -50 3 ||e A9 * KJ64
& K97642 S » A83 3NW5 660 -50 1 ||a& KJ742 a5
%o ¢ VAN o K874 3NE5 660 -50 2 ¢VAN 452
N ~~~~~ v T52 3NE7 720 60 1[N ~~1 ~~ & AK62
S ~~~~~ + KQJT 6CE7 1390 140 1 ||S ~~1~~ ¢ 83
E 7~~~5 aJ5 E ~~~42 a&AQT9%
W7~~~5 W ~~~42
#9 » KQ5 3CS-2-100 Mean: 3NS4 430 80 2 (|#10 4 J75 1NS3 150 Mean: 1NS3 150 3.0 1
v AJ92 2CS290 90  3SW-2 200 30 1 v 84 1NS2120 60  1NS2 120 20 3
* T94 Dif: -190 NS:-5 2NN4 180 3.0 1 + K964 Dif: 30 NS:3 1NS1 90 1.0 1
» 963 IMP: -5 EW:0 3CS3 110 1.0 1 & QT54 IMP: 1 EW:-2 1NS-1 100 -40 3
s AT8764 » 92 1NS2 120 1.0 1 || K842 & T963
v T4 v K853 2SW-1 100 00 4 ||v QT95 _I_ v AJ7
* J8 + KQ763 2DE-1 100 0.0 1 ||e QT7 ¢ 82
& JT7 & K4 2Cs2 90 00 1 » A9 & J872
o ¢VABN ,J3 1NS1 20 00 1 o ¢VABN 4 AQ
N 3~2~1 ¢Q76 3CSs-1 -50 40 2 [N 23 ~~1 v K632
S 3~2~1 ¢A52 4HN-2 100 50 1||S 23 ~~1 ¢AJS3
E ~~~1~ &AQ852 3CS-2 100 50 2 ||E ~~~~~ » K63
W ~~~1~ W ~~~~~




X AY 3z }\ —_
4 113&;«1}_@214%%%% ® ==> R4 4
9 NS: BE5FR %E;@f(ﬁﬁo) 14 1 7 NS: éiﬁﬁ?ﬁ ﬁﬁ%%ﬁ(E}iC) 4 VP:| 13.43 : 6 57 | Total VP: 35.90 Rank:
EW: BREfEE RS EAC) 4 EW: fIRE sRE#(BO) -1 IMP:| 25 15 12
S — I
#1 » Q74 3CS-2-100 Mean: 2HS2 110 7.0 1 [[#2 » AJ97 5CN5 600 Mean: 5CN5 600 11.0 1
v J8 4HXS-4 -800 -200 2HS-1 50 40 1 v AT7 4CN5150 90  4SN4 620 11.0 1
¢ J3 Dif: 700 NS:3 3DE3 110 3.0 4 + 983 Dif: 450 NS:11 1NE-4 200 3.0 1
& KQT874 IMP: 12 EW:12 3CS-2 4100 3.0 1 » K82 IMP: 10 EW:-2 5DE-3 150 2.0 1
& AK8 #» T63 3CN-2 4100 3.0 1 T53 #» K86 4CN5 150 2.0 2
v QT64 v2 3HS-3 150 2.0 3 ||e K9864 I v5 2HE-3 150 2.0 1
+ A86 * KT9542 3DE4 4130 20 1 ||e KJ4 . QT7652 3DE-1 50 1.0 7
& J95 » A62 3CN-3 4150 20 1 ||s Q6 » A74 3SN-1 100 -5.0 1
%+ VBN 4 J952 3NN-5 250 -20 1 o eVAN 4, Q42 2SN-1 4100 -50 1
N 1~~~ ~ ¢ AK9753 3NW3 400 -50 2|IN 5~331 » QJ32 2NS-1 100 -5.0 1
S 1~1~~ ¢Q7 4HXS-3 500 70 1(||S 5~331 A 4SN-3 300 9.0 1
E ~4~~3 &3 4HXS-4 800 -120 1 ||E ~1 ~~ ~ & JT953
W~4~~3 W ~1~~~
#3 » 86 2HW4 -170 Mean: 4HXW-1 200 7.0 1 ||# 4 » AQ 6DN6 1370 Mean: 6NN6 1440 110 3
v QJ64 4HW-1100 -70  4HW-1 100 50 6 v AKJ9 6NN6 1440 910  6DS6 1370 100 2
¢ Ad43 Dif: -270 NS:-3 3NE-1 100 50 1 ¢ KT3 Dif: -70 NS:10 6DN6 1370 100 2
& T763 IMP: -7 EW:-5 3HW-1 100 50 1 & KJ94 IMP: -2 EW:-11 6CS6 1370 100 1
& AQ53 a J7 2NN-2 100 1.0 1 ||a JT953 ~ K87642 6CN6 1370 100 4
v AKT975 v 32 3HW3 140  -20 1 ||e Q8654 + v T72 3NN6 690 6.0 1
* K6 ¢ T9752 2HW3 140 -20 1 ||e5 ¢ J74 6CS-1 100 140 1
& K & A985 3HW4 470 -30 2 ||s 76 aA 7NXN-1 200 -15.0 1
% ¢V BN 4 KT942 2HW4 470 -3.0 2 FOVAN , 7CXN-1 200 -150 3
N ~~~~~ v8 4HW4 620 110 2[IN 56 ~~6 ¢3
S 1~~~~ ¢QJ8 S 56 ~~4 ¢ AQ9862
E ~32~1 &QJ42 E ~~~~~ & QT8532
W ~33~1 W ~ ~~~~
#5 a4 T8 4SS5 650 Mean: 4SS5 650 20 4 (|#6 s J7 4SW5 -650 Mean: 3CXS-2 -300 80 1
v A2 3NS3 600 580 4HS5 650 2.0 3 v K9843 4SE5 -650 -660 4CXS-3 500 4.0 1
+ Q5432 Dif: 50 NS:2 3NN5 660 20 1 + Q652 Dif: 0 NS:0 5SW5 650 0.0 2
» A654 IMP: 2 EW:-1 3NN4 630 20 2 » 64 IMP: 0 EW:0 5SE5 650 0.0 1
# K43 & Q92 4S54 620 1.0 1 ||s Q86432 & AK95 4SW5 650 0.0 7
v 864 v T95 4HS4 620 1.0 1 ||w 2 — v AQJT7 4SE5 650 0.0 2
¢ T98 * AJ76 3NS3 600 1.0 1 ||e J9 * K743 4SW6 680 -1.0 1
& J873 » QT2 3NN3 600 1.0 3 ||a QJ92 ~ 5CXS-4 800 -40 2
% ¢ VAN 4AJ765 3sS5 200 9.0 1 FOVAN T 5CXS-5  -1100 -10.0 1
N ~~553 v KQJ73 1S5S4 170 90 1||N 1 ~~~~ v 65
8§ ~~553 ¢K S 1~~~~ ¢AT8
E ~~~~~ & K9 E ~~~53 & AKT8753
W ~~~~~ W ~~~53
#7 » QJT6 5CW7 -640 Mean: 2DE4 130 80 2 ||#8 aT3 4SE4 -420 Mean: 3SE4 170 6.0 1
v J863 3NE5 -660 -470  4CW7 190 7.0 1 v Q987 4SE4 -420 -410  4SE4 420 0.0 13
¢ 854 Dif: 20 NS:-5 1NE6 240 60 3 ¢ QT752 Dif: 0 NS:0 4SE5 450 1.0 4
& QT IMP: 1 EW:5 1NE5 210 6.0 2 & 83 IMP: 0 EW:0
& A953 a2 1NE7 270 5.0 1 » KJ76 & AQ984
v Q4 + v AK97 3NW4 630 -40 1 ||eT4 v J53
*3 ¢ A9762 5CW7 640 -50 3 ||e A9 * KJ64
& K97642 S » A83 3NW5 660 -50 1 ||a& KJ742 a5
%o ¢ VAN o K874 3NE5 660 -50 2 ¢VAN 452
N ~~~~~ v T52 3NE7 720 60 1[N ~~1 ~~ & AK62
S ~~~~~ + KQJT 6CE7 1390 140 1 ||S ~~1~~ ¢ 83
E 7~~~5 aJ5 E ~~~42 a&AQT9%
W7~~~5 W ~~~42
#9 » KQ5 2DE-1100 Mean: 3NS4 430 80 2 (|#10 4 J75 1NS-1-100 Mean: 1NS3 150 3.0 1
v AJ92 1NS2120 90  3SW-2 200 30 1 v 84 1NS190 60  1NS2 120 20 3
* T94 Dif: -20 NS:0 2NN4 180 3.0 1 + K964 Dif: -190 NS:-4 1NS1 90 1.0 1
» 963 IMP: -1 EW:-1  3CS3 110 1.0 1 & QT54 IMP: -5 EW:-1 1NS-1 100 -40 3
s AT8764 » 92 1NS2 120 1.0 1 || K842 & T963
v T4 v K853 2SW-1 100 00 4 ||v QT95 _I_ v AJ7
* J8 + KQ763 2DE-1 100 0.0 1 ||e QT7 ¢ 82
& JT7 & K4 2Cs2 90 00 1 » A9 » J872
o ¢VABN ,J3 1NS1 20 00 1 o ¢VABN 4 AQ
N 3~2~1 ¢Q76 3CSs-1 -50 40 2 [N 23 ~~1 v K632
S 3~2~1 ¢A52 4HN-2 100 50 1||S 23 ~~1 ¢AJS3
E ~~~1~ &AQ852 3CS-2 100 50 2 ||E ~~~~~ » K63
W ~~~1~ W ~~~~~




X AY 3z }\ —_
4 113&;«1}_@214%%%% ® ==> R4 4
1 O NS: ElEK @fg"g)%(]%ﬁ@ -29 8 NS: ’M(:uﬁﬁ 35#25(550)9 | VP:| 1.70 18 30| Total VP: 32.26 Rank:
EW: 14K FEg=BEE0) 9 EW: KB £LRZ(BAC) 2 IMP:| 10 43 13
S — I —
#1 » Q74 3NN-5250 Mean: 2HS2 110 7.0 1 [[#2 » AJ97 3DE-1-50 Mean: 5CN5 600 11.0 1
v J8 3NW3 400 -200 2HS-1 50 40 1 v AT7 1NE-4 -200 90  4SN4 620 11.0 1
¢ J3 Dif: -150 NS:-5 3DE3 110 3.0 4 + 983 Dif: 150 NS:3 1NE-4 200 3.0 1
& KQT874 IMP: -4 EW:2 3CS-2 4100 3.0 1 » K82 IMP: 4 EW:1 5DE-3 150 2.0 1
& AK8 #» T63 3CN-2 4100 3.0 1 T53 #» K86 4CN5 150 2.0 2
v QT64 v2 3HS-3 150 2.0 3 ||e K9864 I v5 2HE-3 150 2.0 1
+ A86 * KT9542 3DE4 4130 20 1 ||e KJ4 3 QT7652 3DE-1 50 1.0 7
& J95 » A62 3CN-3 4150 20 1 ||s Q6 » A74 3SN-1 100 -5.0 1
%+ VBN 4 J952 3NN-5 250 -20 1 o eVAN 4, Q42 2SN-1 4100 -50 1
N 1~~~ ~ ¢ AK9753 3NW3 400 -50 2|IN 5~331 » QJ32 2NS-1 100 -5.0 1
S 1~1~~ ¢Q7 4HXS-3 500 70 1(||S 5~331 A 4SN-3 300 9.0 1
E ~4~~3 &3 4HXS-4 800 -120 1 ||E ~1 ~~ ~ & JT953
W~4~~3 W ~1~~~
#3 » 86 3HW4 170 Mean: 4HXW-1 200 7.0 1 ||# 4 » AQ 6CN6 -1370 Mean: 6NN6 1440 110 3
v QJ64 4HW4 620 -70  4HW-1 100 50 6 v AKJ9 7NXN-1200 910 6DS6 1370 100 2
¢ Ad43 Dif: -450 NS:-11 3NE-1 100 50 1 ¢ KT3 Dif: -1570 NS:-15 6DN6 1370 100 2
& T763 IMP: -10 EW:3  3HW-1 100 50 1 & KJ94 IMP: -17 EW:-10 6CS6 1370 100 1
& AQ53 a J7 2NN-2 100 1.0 1 ||a JT953 » K87642 6CN6 1370 100 4
v AKT975 v 32 3HW3 140  -20 1 ||e Q8654 + v T72 3NN6 690 6.0 1
* K6 ¢ T9752 2HW3 140 -20 1 ||e5 ¢ J74 6CS-1 100 140 1
& K & A985 3HW4 470 -30 2 ||s 76 aA 7NXN-1 200 -15.0 1
% ¢V BN 4 KT942 2HW4 470 -3.0 2 FOVAN , 7CXN-1 200 -150 3
N ~~~~~ v8 4HW4 620 110 2[IN 56 ~~6 ¢3
S 1~~~~ ¢QJ8 S 56 ~~4 ¢ AQ9862
E ~32~1 &QJ42 E ~~~~~ & QT8532
W ~33~1 W ~ ~~~~
#5 a4 T8 3NN5 -660 Mean: 4SS5 650 20 4 (|#6 s J7 4SE5 650 Mean: 3CXS-2 -300 80 1
v A2 3NN3 -600 580  4HS5 650 2.0 3 v K9843 5SW5 650 -660 4CXS-3 500 4.0 1
+ Q5432 Dif: -60 NS:1  3NN5 660 20 1 + Q652 Dif: 0 NS:0 5SW5 650 0.0 2
» A654 IMP: -2 EW:-2 3NN4 630 20 2 » 64 IMP: 0 EW:0 5SE5 650 0.0 1
# K43 & Q92 4S54 620 1.0 1 ||s Q86432 & AK95 4SW5 650 0.0 7
v 864 v T95 4HS4 620 1.0 1 ||w 2 — v AQJT7 4SE5 650 0.0 2
¢ T98 * AJ76 3NS3 600 1.0 1 ||e J9 * K743 4SW6 680 -1.0 1
& J873 » QT2 3NN3 600 1.0 3 ||a QJ92 ~ 5CXS-4 800 -40 2
% ¢ VAN 4AJ765 3sS5 200 9.0 1 FOVAN T 5CXS-5  -1100 -10.0 1
N ~~553 v KQJ73 1S5S4 170 90 1||N 1 ~~~~ v 65
8§ ~~553 ¢K S 1~~~~ ¢AT8
E ~~~~~ & K9 E ~~~53 & AKT8753
W ~~~~~ W ~~~53
#7 » QJT6 1NE6 240 Mean: 2DE4 130 80 2 ||#8 aT3 4SE5 450 Mean: 3SE4 170 6.0 1
v J863 3NW4 630 -470 4CW7 190 7.0 1 v Q987 4SE4 420 -410  4SE4 420 0.0 13
¢ 854 Dif: -390 NS:-4 1NE6 240 60 3 ¢ QT752 Dif: 30 NS:0 4SE5 450 1.0 4
& QT IMP: -9 EW:-6 1NE5 210 6.0 2 & 83 P:1 EW:1
& A953 a2 1NE7 270 5.0 1 » KJ76 & AQ984
v Q4 + v AK97 3NW4 630 -40 1 ||eT4 v J53
*3 ¢ A9762 5CW7 640 -50 3 ||e A9 * KJ64
& K97642 S » A83 3NW5 660 -50 1 ||a& KJ742 a5
%o ¢ VAN o K874 3NE5 660 -50 2 ¢VAN 452
N ~~~~~ v T52 3NE7 720 60 1[N ~~1 ~~ & AK62
S ~~~~~ + KQJT 6CE7 1390 140 1 ||S ~~1~~ ¢ 83
E 7~~~5 aJ5 E ~~~42 a&AQT9%
W7~~~5 W ~~~42
#9 » KQ5 3CS-2100 Mean: 3NS4 430 80 2 (|#10 4 J75 1NS3 -150 Mean: 1NS3 150 3.0 1
v AJ92 2CS2-90 90  3SW-2 200 30 1 v 84 1NS2-120 60  1NS2 120 20 3
* T94 Dif: 190 NS:0 2NN4 180 3.0 1 + K964 Dif: -30 NS:2 1NS1 90 1.0 1
» 963 IMP: 5 EW:5 3CS3 110 1.0 1 & QT54 IMP: -1 EW:-3 1NS-1 100 -40 3
s AT8764 » 92 1NS2 120 1.0 1 || K842 & T963
v T4 v K853 2SW-1 100 00 4 ||v QT95 _I_ v AJ7
* J8 + KQ763 2DE-1 100 0.0 1 ||e QT7 ¢ 82
& JT7 & K4 2Cs2 90 00 1 » A9 & J872
o ¢VABN ,J3 1NS1 20 00 1 o ¢VABN 4 AQ
N 3~2~1 ¢Q76 3CSs-1 -50 40 2 [N 23 ~~1 v K632
S 3~2~1 ¢A52 4HN-2 100 50 1||S 23 ~~1 ¢AJS3
E ~~~1~ &AQ852 3CS-2 100 50 2 ||E ~~~~~ » K63
W ~~~1~ W ~~~~~




X AY 3z }\ —_
4 113&;«1}_@214%%%% ® ==> R4 4
1 1 NS: FENER &JE%(F;EJO)Q 14 NS: $smm WfEE(FﬁC) 16| VP:| 8.86 11 14| Total VP: 41.61 Rank:
EW: s ZEBEEIC) -16 EW: ZhiEE BREL\(BAO) -9) IMP:| 7 10 9
S — — I
#1 » Q74 3DE3 -110 Mean: 2HS2 110 7.0 1 [[#2 » AJ97 3SN-1-100 Mean: 5CN5 600 11.0 1
v J8 3CN-3-150 -200 2HS-1 50 40 1 v AT7 2HE-3150 90  4SN4 620 11.0 1
¢ J3 Dif: 40 NsS:3 3DE3 110 3.0 4 + 983 Dif: -250 NS:-5 1NE-4 200 3.0 1
& KQT874 IMP: 1 EW:-2 3CS-2 4100 3.0 1 » K82 IMP: -6 EW:-2 5DE-3 150 2.0 1
& AK8 #» T63 3CN-2 4100 3.0 1 T53 #» K86 4CN5 150 2.0 2
v QT64 v2 3HS-3 150 2.0 3 ||e K9864 I v5 2HE-3 150 2.0 1
+ A86 * KT9542 3DE4 4130 20 1 ||e KJ4 3 QT7652 3DE-1 50 1.0 7
& J95 » A62 3CN-3 150 20 1 ||s Q6 » A74 3SN-1 100 -5.0 1
%+ VBN 4 J952 3NN-5 250 -20 1 o eVAN 4, Q42 2SN-1 4100 -50 1
N 1~~~ ~ ¢ AK9753 3NW3 400 -50 2|IN 5~331 » QJ32 2NS-1 100 -5.0 1
S 1~1~~ ¢Q7 4HXS-3 500 70 1(||S 5~331 A 4SN-3 300 9.0 1
E ~4~~3 &3 4HXS-4 800 -120 1 ||E ~1 ~~ ~ & JT953
W~4~~3 W ~1~~~
#3 » 86 4HW-1 100 Mean: 4HXW-1 200 7.0 1 ||# 4 » AQ 6NN6 1440 Mean: 6NN6 1440 110 3
v QJ64 4HW-1100 -70  4HW-1 100 50 6 v AKJ9 6CN6 1370 910  6DS6 1370 100 2
¢ A43 Dif: 0 NS:5 3NE-1 100 50 1 ¢ KT3 Dif: 70 NS:11  6DN6 1370 100 2
& T763 IMP: 0 EW:-5 3HW-1 100 50 1 & KJ94 IMP: 2 EW:-10 6CS6 1370 100 1
& AQ53 a J7 2NN-2 100 1.0 1 ||a JT953 » K87642 6CN6 1370 100 4
v AKT975 v 32 3HW3 140  -20 1 ||e Q8654 + v T72 3NN6 690 6.0 1
* K6 ¢ T9752 2HW3 140 -20 1 ||e5 ¢ J74 6CS-1 100 140 1
& K & A985 3HW4 470 -30 2 ||s 76 aA 7NXN-1 200 -15.0 1
% ¢V BN 4 KT942 2HW4 470 -3.0 2 FOVAN , 7CXN-1 200 -150 3
N ~~~~~ v8 4HW4 620 110 2[IN 56 ~~6 ¢3
S 1~~~~ ¢QJ8 S 56 ~~4 ¢ AQ9862
E ~32~1 &QJ42 E ~~~~~ & QT8532
W ~33~1 W ~ ~~~~
#5 a4 T8 4HS5 650 Mean: 4SS5 650 20 4 (|#6 s J7 4SW5 -650 Mean: 3CXS-2 -300 80 1
v A2 3NN4 630 580  4HS5 650 2.0 3 v K9843 4SW5 -650 -660 4CXS-3 500 4.0 1
+ Q5432 Dif: 20 NS:2 3NN5 660 20 1 + Q652 Dif: 0 NS:0 5SW5 650 0.0 2
» A654 IMP: 1 EW:-2 3NN4 630 20 2 » 64 IMP: 0 EW:0 5SE5 650 0.0 1
# K43 & Q92 4S54 620 1.0 1 ||s Q86432 & AK95 4SW5 650 0.0 7
v 864 v T95 4HS4 620 1.0 1 ||w 2 — v AQJT7 4SE5 650 0.0 2
¢ T98 * AJ76 3NS3 600 1.0 1 ||e J9 * K743 4SW6 680 -1.0 1
& J873 » QT2 3NN3 600 1.0 3 ||a QJ92 ~ 5CXS-4 800 -40 2
% ¢ VAN 4AJ765 3sS5 200 9.0 1 FOVAN T 5CXS-5  -1100 -10.0 1
N ~~553 v KQJ73 1S5S4 170 90 1||N 1 ~~~~ v 65
8§ ~~553 ¢K S 1~~~~ ¢AT8
E ~~~~~ & K9 E ~~~53 & AKT8753
W ~~~~~ W ~~~53
#7 » QJT6 3NW5 -660 Mean: 2DE4 130 80 2 ||#8 aT3 4SE4 -420 Mean: 3SE4 170 6.0 1
v J863 3NE7 -720 -470  4CW7 190 7.0 1 v Q987 4SE4 -420 -410  4SE4 420 0.0 13
¢ 854 Dif: 60 NS:-5 1NE6 240 60 3 ¢ QT752 Dif: 0 NS:0 4SE5 450 1.0 4
& QT IMP: 2 EW:6 1NE5 210 6.0 2 & 83 IMP: 0 EW:0
& A953 a2 1NE7 270 5.0 1 & KJ76 & AQ984
v Q4 + v AK97 3NW4 630 -40 1 ||eT4 v J53
*3 ¢ A9762 5CW7 640 -50 3 ||e A9 * KJ64
& K97642 S » A83 3NW5 660 -50 1 ||a& KJ742 a5
%o ¢ VAN o K874 3NE5 660 -50 2 ¢VAN 452
N ~~~~~ v T52 3NE7 720 60 1[N ~~1 ~~ & AK62
S ~~~~~ + KQJT 6CE7 1390 140 1 ||S ~~1~~ ¢ 83
E 7~~~5 aJ5 E ~~~42 a&AQT9%
W7~~~5 W ~~~42
#9 » KQ5 3CS-1-50 Mean: 3NS4 430 80 2 (|#10 4 J75 1NS2 120 Mean: 1NS3 150 3.0 1
v AJ92 2SW-1100 90  3SW-2 200 30 1 v 84 1NS190 60  1NS2 120 20 3
* T94 Dif: -150 NS:-4 2NN4 180 3.0 1 + K964 Dif: 30 NS:2 1NS1 90 1.0 1
» 963 IMP: -4 EW:0 3CS3 110 1.0 1 & QT54 IMP: 1 EW:-1  1NS-1 100 -40 3
s AT8764 » 92 1NS2 120 1.0 1 || K842 & T963
v T4 v K853 2SW-1 100 00 4 ||v QT95 _I_ v AJ7
* J8 + KQ763 2DE-1 100 0.0 1 ||e QT7 ¢ 82
& JT7 & K4 2Cs2 90 00 1 » A9 & J872
o ¢VABN ,J3 1NS1 20 00 1 o ¢VABN 4 AQ
N 3~2~1 ¢Q76 3CSs-1 -50 40 2 [N 23 ~~1 v K632
S 3~2~1 ¢A52 4HN-2 100 50 1||S 23 ~~1 ¢AJS3
E ~~~1~ &AQ852 3CS-2 100 50 2 ||E ~~~~~ » K63
W ~~~1~ W ~~~~~




X AY 3z }\ —_
4 113&;«1}_@214%%%% ® ==> R4 4
1 2 NS: Efzk = %QBJE(F,S]O) -9 16 NS: alé %i‘f%(Fx‘iC) ] VP:| 9.23 10 77| Total VP: 16.54 Rank:
EW: EEH BRBEIC) 2 EW: Rl BR>¢(F0) 9 IMP:| 19 21 18
S — I —
#1 » Q74 2HS-1-50 Mean: 2HS2 110 7.0 1 [[#2 » AJ97 3DE-1 50 Mean: 5CN5 600 11.0 1
v J8 4HXS-3 -500 -200 2HS-1 50 40 1 v AT7 3DE-150 90  4SN4 620 11.0 1
¢ J3 Dif: 450 NS:4 3DE3 110 3.0 4 + 983 Dif: 0 NS:-1 1NE-4 200 3.0 1
& KQT874 IMP: 10 EW:7 3CS-2 4100 3.0 1 » K82 IMP: 0 EW:1 5DE-3 150 2.0 1
& AK8 #» T63 3CN-2 4100 3.0 1 T53 #» K86 4CN5 150 2.0 2
v QT64 v2 3HS-3 150 2.0 3 ||e K9864 I v5 2HE-3 150 2.0 1
+ A86 * KT9542 3DE4 4130 20 1 ||e KJ4 3 QT7652 3DE-1 50 1.0 7
& J95 » A62 3CN-3 4150 20 1 ||s Q6 » A74 3SN-1 100 -5.0 1
%+ VBN 4 J952 3NN-5 250 -20 1 o eVAN 4, Q42 2SN-1 4100 -50 1
N 1~~~ ~ ¢ AK9753 3NW3 400 -50 2|IN 5~331 » QJ32 2NS-1 100 -5.0 1
S 1~1~~ ¢Q7 4HXS-3 500 70 1(||S 5~331 A 4SN-3 300 9.0 1
E ~4~~3 &3 4HXS-4 800 -120 1 ||E ~1 ~~ ~ & JT953
W~4~~3 W ~1~~~
#3 » 86 2HW3 -140 Mean: 4HXW-1 200 7.0 1 ||# 4 » AQ 7CXN-1 -200 Mean: 6NN6 1440 110 3
v QJ64 3HW3 -140 -70  4HW-1 100 50 6 v AKJ9 6CS6 1370 910 6DS6 1370 100 2
¢ A43 Dif: 0 NS:-2 3NE-1 100 50 1 ¢ KT3 Dif: -1570 NS:-15 6DN6 1370 100 2
& T763 IMP: 0 EW:2 3HW-1 100 50 1 & KJ94 IMP: -17 EW:-10 6CS6 1370 100 1
& AQ53 a J7 2NN-2 100 1.0 1 ||a JT953 » K87642 6CN6 1370 100 4
v AKT975 v 32 3HW3 140  -20 1 ||e Q8654 + v T72 3NN6 690 6.0 1
* K6 ¢ T9752 2HW3 140 -20 1 ||e5 ¢ J74 6CS-1 100 140 1
& K & A985 3HW4 470 -30 2 ||s 76 aA 7NXN-1 200 -15.0 1
% ¢V BN 4 KT942 2HW4 470 -3.0 2 FOVAN , 7CXN-1 200 -150 3
N ~~~~~ v8 4HW4 620 110 2[IN 56 ~~6 ¢3
S 1~~~~ ¢QJ8 S 56 ~~4 ¢ AQ9862
E ~32~1 &QJ42 E ~~~~~ & QT8532
W ~33~1 W ~ ~~~~
#5 a4 T8 4HS5 650 Mean: 4SS5 650 20 4 (|#6 s J7 5CXS-4 -800 Mean: 3CXS-2 -300 80 1
v A2 4HS5 650 580  4HS5 650 2.0 3 v K9843 5SE5 -650 -660  4CXS-3 500 4.0 1
+ Q5432 Dif: 0 NS:2 3NN5 660 20 1 + Q652 Dif: -150 NS:-4 5SW5 650 0.0 2
» A654 IMP: 0 EW:-2 3NN4 630 20 2 » 64 IMP: -4 EW:0 5SE5 650 0.0 1
# K43 & Q92 4S54 620 1.0 1 ||s Q86432 & AK95 4SW5 650 0.0 7
v 864 v T95 4HS4 620 1.0 1 ||w 2 — v AQJT7 4SE5 650 0.0 2
¢ T98 * AJ76 3NS3 600 1.0 1 ||e J9 * K743 4SW6 680 -1.0 1
& J873 » QT2 3NN3 600 1.0 3 ||a QJ92 ~ 5CXS-4 800 -40 2
% ¢ VAN 4AJ765 3sS5 200 9.0 1 FOVAN T 5CXS-5  -1100 -10.0 1
N ~~553 v KQJ73 1S5S4 170 90 1||N 1 ~~~~ v 65
8§ ~~553 ¢K S 1~~~~ ¢AT8
E ~~~~~ & K9 E ~~~53 & AKT8753
W ~~~~~ W ~~~53
#7 » QJT6 1NE6 -240 Mean: 2DE4 130 80 2 ||#8 aT3 4SE4 -420 Mean: 3SE4 170 6.0 1
v J863 5CW7 -640 -470  4CW7 190 7.0 1 v Q987 4SE4 -420 -410  4SE4 420 0.0 13
¢ 854 Dif: 400 NS:6 1NE6 240 60 3 ¢ QT752 Dif: 0 NS:0 4SE5 450 1.0 4
& QT IMP: 9 EW:5 1NE5 210 6.0 2 & 83 IMP: 0 EW:0
& A953 a2 1NE7 270 5.0 1 & KJ76 & AQ984
v Q4 + v AK97 3NW4 630 -40 1 ||eT4 v J53
*3 ¢ A9762 5CW7 640 -50 3 ||e A9 * KJ64
& K97642 S » A83 3NW5 660 -50 1 ||a& KJ742 a5
%o ¢ VAN o K874 3NE5 660 -50 2 ¢VAN 452
N ~~~~~ v T52 3NE7 720 60 1[N ~~1 ~~ & AK62
S ~~~~~ + KQJT 6CE7 1390 140 1 ||S ~~1~~ ¢ 83
E 7~~~5 aJ5 E ~~~42 a&AQT9%
W7~~~5 W ~~~42
#9 » KQ5 1NS1 90 Mean: 3NS4 430 80 2 (|#10 4 J75 1NS1 90 Mean: 1NS3 150 3.0 1
v AJ92 2SW-1100 90  3SW-2 200 30 1 v 84 1NS190 60  1NS2 120 20 3
* T94 Dif: 10 NS:0 2NN4 180 3.0 1 + K964 Dif: 0 NS:1  1NS1 90 1.0 1
» 963 IMP: 0 EW:0 3CS3 110 1.0 1 & QT54 IMP: 0 EW:-1  1NS-1 100 -40 3
s AT8764 » 92 1NS2 120 1.0 1 || K842 & T963
v T4 v K853 2SW-1 100 00 4 ||v QT95 _I_ v AJ7
* J8 + KQ763 2DE-1 100 0.0 1 ||e QT7 ¢ 82
& JT7 & K4 2Cs2 90 00 1 » A9 & J872
o ¢VABN ,J3 1NS1 20 00 1 o ¢VABN 4 AQ
N 3~2~1 ¢Q76 3CSs-1 -50 40 2 [N 23 ~~1 v K632
S 3~2~1 ¢A52 4HN-2 100 50 1||S 23 ~~1 ¢AJS3
E ~~~1~ &AQ852 3CS-2 100 50 2 ||E ~~~~~ » K63
W ~~~1~ W ~~~~~




X AY 3z }\ —_
4 113&;«1}_@214%%%% ® ==> R4 4
1 3 NS: fEE=l6 Eﬁ}_(ﬁﬁ@ -6 18 NS: Ml&i‘h Fiﬁbﬁl](Fz‘iC) 20 VP:| 4.71 15 29| Total VP: 38.72 Rank:
EW: 84 - EEH0) -20 EW: EE:¥ It E(B0o) 6 IMP:| 23 : 40 1
S — — I
#1 » Q74 3DE4 -130 Mean: 2HS2 110 7.0 1 [[#2 » AJ97 4CN5 150 Mean: 5CN5 600 11.0 1
v J8 3HS-3 -150 -200  2HS-1 50 40 1 v AT7 3DE-150 90  4SN4 620 11.0 1
¢ J3 Dif: 20 NS:2 3DE3 110 3.0 4 + 983 Dif: 100 NS:2 1NE-4 200 3.0 1
& KQT874 IMP: 1 EW:-2 3CS-2 4100 3.0 1 » K82 IMP: 3 EW:1 5DE-3 150 2.0 1
& AK8 #» T63 3CN-2 4100 3.0 1 T53 #» K86 4CN5 150 2.0 2
v QT64 v2 3HS-3 150 2.0 3 ||e K9864 I v5 2HE-3 150 2.0 1
+ A86 * KT9542 3DE4 4130 20 1 ||e KJ4 3 QT7652 3DE-1 50 1.0 7
& J95 » A62 3CN-3 4150 20 1 ||s Q6 » A74 3SN-1 100 -5.0 1
%+ VBN 4 J952 3NN-5 250 -20 1 o eVAN 4, Q42 2SN-1 4100 -50 1
N 1~~~ ~ ¢ AK9753 3NW3 400 -50 2|IN 5~331 » QJ32 2NS-1 100 -5.0 1
S 1~1~~ ¢Q7 4HXS-3 500 70 1(||S 5~331 A 4SN-3 300 9.0 1
E ~4~~3 &3 4HXS-4 800 -120 1 ||E ~1 ~~ ~ & JT953
W~4~~3 W ~1~~~
#3 » 86 4HW-1 100 Mean: 4HXW-1 200 7.0 1 ||# 4 » AQ 6CS-1-100 Mean: 6NN6 1440 110 3
v QJ64 3HW4 -170 -70  4HW-1 100 50 6 v AKJ9 6NN6 1440 910  6DS6 1370 100 2
¢ Ad43 Dif: 270 NS:5 3NE-1 100 50 1 ¢ KT3 Dif: -1540 NS:-14 6DN6 1370 100 2
& T763 IMP: 7 EW:3  3HW-1 100 50 1 & KJ94 IMP: -17 EW:-11 6CS6 1370 100 1
& AQ53 a J7 2NN-2 100 1.0 1 ||a JT953 » K87642 6CN6 1370 100 4
v AKT975 v 32 3HW3 140  -20 1 ||e Q8654 + v T72 3NN6 690 6.0 1
* K6 ¢ T9752 2HW3 140 -20 1 ||e5 ¢ J74 6CS-1 100 140 1
& K & A985 3HW4 470 -30 2 ||s 76 aA 7NXN-1 200 -15.0 1
% ¢V BN 4 KT942 2HW4 470 -3.0 2 FOVAN , 7CXN-1 200 -150 3
N ~~~~~ v8 4HW4 620 110 2[IN 56 ~~6 ¢3
S 1~~~~ ¢QJ8 S 56 ~~4 ¢ AQ9862
E ~32~1 &QJ42 E ~~~~~ & QT8532
W ~33~1 W ~ ~~~~
#5 a4 T8 3SS5200 Mean: 4SS5 650 20 4 (|#6 s J7 5SW5 -650 Mean: 3CXS-2 -300 80 1
v A2 3NN3 600 580  4HS5 650 2.0 3 v K9843 5CXS-5-1100 -660  4CXS-3 500 4.0 1
+ Q5432 Dif: -400 NS:-9 3NN5 660 20 1 + Q652 Dif: 450 NS:0 5SW5 650 0.0 2
» A654 IMP: -9 EW:-1 3NN4 630 20 2 » 64 IMP: 10 EW:10 5SE5 650 0.0 1
# K43 & Q92 4S54 620 1.0 1 ||s Q86432 & AK95 4SW5 650 0.0 7
v 864 v T95 4HS4 620 1.0 1 ||w 2 — v AQJT7 4SE5 650 0.0 2
¢ T98 * AJ76 3NS3 600 1.0 1 ||e J9 * K743 4SW6 680 -1.0 1
& J873 » QT2 3NN3 600 1.0 3 ||a QJ92 ~ 5CXS-4 800 -40 2
% ¢ VAN 4AJ765 3sS5 200 9.0 1 FOVAN T 5CXS-5  -1100 -10.0 1
N ~~553 v KQJ73 1S5S4 170 90 1||N 1 ~~~~ v 65
8§ ~~553 ¢K S 1~~~~ ¢AT8
E ~~~~~ & K9 E ~~~53 & AKT8753
W ~~~~~ W ~~~53
#7 » QJT6 4CW?7 -190 Mean: 2DE4 130 80 2 ||#8 aT3 4SE4 -420 Mean: 3SE4 170 6.0 1
v J863 1NE7 -270 -470  4CW7 190 7.0 1 v Q987 3SE4 -170 -410 4SE4 420 0.0 13
¢ 854 Dif: 80 NS:7 1NE6 240 60 3 ¢ QT752 Dif: -250 NS:0 4SE5 450 1.0 4
& QT IMP: 2 EW:-5 1NE5 210 6.0 2 & 83 IMP: -6 EW:-6
& A953 a2 1NE7 270 5.0 1 & KJ76 & AQ984
v Q4 + v AK97 3NW4 630 -40 1 ||eT4 v J53
*3 ¢ A9762 5CW7 640 -50 3 ||e A9 * KJ64
& K97642 S » A83 3NW5 660 -50 1 ||a& KJ742 a5
%o ¢ VAN o K874 3NE5 660 -50 2 ¢VAN 452
N ~~~~~ v T52 3NE7 720 60 1[N ~~1 ~~ & AK62
S ~~~~~ + KQJT 6CE7 1390 140 1 ||S ~~1~~ ¢ 83
E 7~~~5 aJ5 E ~~~42 a&AQT9%
W7~~~5 W ~~~42
#9 » KQ5 2SW-1 100 Mean: 3NS4 430 80 2 (|#10 4 J75 1NS1 90 Mean: 1NS3 150 3.0 1
v AJ92 3NS4430 90  3SW-2 200 30 1 v 84 1NS190 60  1NS2 120 20 3
* T94 Dif: -330 NS:0 2NN4 180 3.0 1 + K964 Dif: 0 NS:1  1NS1 90 1.0 1
» 963 IMP: -8 EW:-8 3CS3 110 1.0 1 & QT54 IMP: 0 EW:-1  1NS-1 100 -40 3
s AT8764 » 92 1NS2 120 1.0 1 || K842 & T963
v T4 v K853 2SW-1 100 00 4 ||v QT95 _I_ v AJ7
* J8 + KQ763 2DE-1 100 0.0 1 ||e QT7 ¢ 82
& JT7 & K4 2Cs2 90 00 1 » A9 & J872
o ¢VABN ,J3 1NS1 20 00 1 o ¢VABN 4 AQ
N 3~2~1 ¢Q76 3CSs-1 -50 40 2 [N 23 ~~1 v K632
S 3~2~1 ¢A52 4HN-2 100 50 1||S 23 ~~1 ¢AJS3
E ~~~1~ &AQ852 3CS-2 100 50 2 ||E ~~~~~ » K63
W ~~~1~ W ~~~~~




X AY 3z }\ —_
4 113&;«1}_@214%%%% ® ==> R4 4
1 4 NS: £E5# 7}7[0[@@(]3@@ 16 1 1 NS: HEJIIE*D gl E.ia(f%‘iO)Q VP:| 11.14 : 8 86 Total VP: 48.28 Rank:
EW: 20k = BEECMBEO) 9 EW: 2hiEi8 EHAR(BAC) 1 IMP:| 10 7 5
S — — I
#1 » Q74 3DE3 110 Mean: 2HS2 110 7.0 1 [[#2 » AJ97 3SN-1 100 Mean: 5CN5 600 11.0 1
v J8 3CN-3 150 -200 2HS-1 50 40 1 v AT7 2HE-3-150 90  4SN4 620 11.0 1
¢ J3 Dif: -40 NS:2 3DE3 110 3.0 4 + 983 Dif: 250 NS:2 1NE-4 200 3.0 1
& KQT874 IMP: -1 EW:-3 3CS-2 4100 3.0 1 » K82 IMP: 6 EW:5 5DE-3 150 2.0 1
& AK8 #» T63 3CN-2 4100 3.0 1 T53 #» K86 4CN5 150 2.0 2
v QT64 v2 3HS-3 150 2.0 3 ||e K9864 I v5 2HE-3 150 2.0 1
+ A86 * KT9542 3DE4 4130 20 1 ||e KJ4 3 QT7652 3DE-1 50 1.0 7
& J95 » A62 3CN-3 150 20 1 ||s Q6 » A74 3SN-1 100 -5.0 1
%+ VBN 4 J952 3NN-5 250 -20 1 o eVAN 4, Q42 2SN-1 4100 -50 1
N 1~~~ ~ ¢ AK9753 3NW3 400 -50 2|IN 5~331 » QJ32 2NS-1 100 -5.0 1
S 1~1~~ ¢Q7 4HXS-3 500 70 1(||S 5~331 A 4SN-3 300 9.0 1
E ~4~~3 &3 4HXS-4 800 -120 1 ||E ~1 ~~ ~ & JT953
W~4~~3 W ~1~~~
#3 » 86 4HW-1 -100 Mean: 4HXW-1 200 7.0 1 ||# 4 » AQ 6NNG6 -1440 Mean: 6NN6 1440 110 3
v QJ64 4HW-1-100 -70  4HW-1 100 50 6 v AKJ9 6CN6 -1370 910 6DS6 1370 100 2
¢ A43 Dif: 0 NS:5 3NE-1 100 50 1 ¢ KT3 Dif: -70 NS:10 6DN6 1370 100 2
& T763 IMP: 0 EW:-5 3HW-1 100 50 1 & KJ94 IMP: -2 EW:-11 6CS6 1370 100 1
& AQ53 a J7 2NN-2 100 1.0 1 ||a JT953 » K87642 6CN6 1370 100 4
v AKT975 v 32 3HW3 140  -20 1 ||e Q8654 + v T72 3NN6 690 6.0 1
* K6 ¢ T9752 2HW3 140 -20 1 ||e5 ¢ J74 6CS-1 100 140 1
& K & A985 3HW4 470 -30 2 ||s 76 aA 7NXN-1 200 -15.0 1
% ¢V BN 4 KT942 2HW4 470 -3.0 2 FOVAN , 7CXN-1 200 -150 3
N ~~~~~ v8 4HW4 620 110 2[IN 56 ~~6 ¢3
S 1~~~~ ¢QJ8 S 56 ~~4 ¢ AQ9862
E ~32~1 &QJ42 E ~~~~~ & QT8532
W ~33~1 W ~ ~~~~
#5 a4 T8 4HS5 -650 Mean: 4SS5 650 20 4 (|#6 s J7 4SW5 650 Mean: 3CXS-2 -300 80 1
v A2 3NN4 -630 580  4HS5 650 2.0 3 v K9843 4SW5 650 -660  4CXS-3 500 4.0 1
+ Q5432 Dif: -20 NS:2 3NN5 660 20 1 + Q652 Dif: 0 NS:0 5SW5 650 0.0 2
» A654 IMP: -1 EW:-2 3NN4 630 20 2 » 64 IMP: 0 EW:0 5SE5 650 0.0 1
# K43 & Q92 4S54 620 1.0 1 ||s Q86432 & AK95 4SW5 650 0.0 7
v 864 v T95 4HS4 620 1.0 1 ||w 2 — v AQJT7 4SE5 650 0.0 2
¢ T98 * AJ76 3NS3 600 1.0 1 ||e J9 * K743 4SW6 680 -1.0 1
& J873 » QT2 3NN3 600 1.0 3 ||a QJ92 ~ 5CXS-4 800 -40 2
% ¢ VAN 4AJ765 3sS5 200 9.0 1 FOVAN T 5CXS-5  -1100 -10.0 1
N ~~553 v KQJ73 1S5S4 170 90 1||N 1 ~~~~ v 65
8§ ~~553 ¢K S 1~~~~ ¢AT8
E ~~~~~ & K9 E ~~~53 & AKT8753
W ~~~~~ W ~~~53
#7 » QJT6 3NW5 660 Mean: 2DE4 130 80 2 ||#8 aT3 4SE4 420 Mean: 3SE4 170 6.0 1
v J863 3NE7 720 -470  4CW7 190 7.0 1 v Q987 4SE4 420 -410  4SE4 420 0.0 13
¢ 854 Dif: -60 NS:-6 1NE6 240 60 3 ¢ QT752 Dif: 0 NS:0 4SE5 450 1.0 4
& QT IMP: -2 EW:5 1NE5 210 6.0 2 & 83 IMP: 0 EW:0
& A953 a2 1NE7 270 5.0 1 & KJ76 & AQ984
v Q4 + v AK97 3NW4 630 -40 1 ||eT4 v J53
*3 ¢ A9762 5CW7 640 -50 3 ||e A9 * KJ64
& K97642 S » A83 3NW5 660 -50 1 ||a& KJ742 a5
%o ¢ VAN o K874 3NE5 660 -50 2 ¢VAN 452
N ~~~~~ v T52 3NE7 720 60 1[N ~~1 ~~ & AK62
S ~~~~~ + KQJT 6CE7 1390 140 1 ||S ~~1~~ ¢ 83
E 7~~~5 aJ5 E ~~~42 a&AQT9%
W7~~~5 W ~~~42
#9 » KQ5 3CS-150 Mean: 3NS4 430 80 2 (|#10 4 J75 1NS2 -120 Mean: 1NS3 150 3.0 1
v AJ92 2SW-1-100 90  3SW-2 200 30 1 v 84 1NS1-90 60  1NS2 120 20 3
* T94 Dif: 150 NS:0 2NN4 180 3.0 1 + K964 Dif: -30 NS:1 1NS1 90 1.0 1
» 963 IMP: 4 EW:4 3CS3 110 1.0 1 & QT54 IMP: -1 EW:-2 1NS-1 100 -40 3
s AT8764 » 92 1NS2 120 1.0 1 || K842 & T963
v T4 v K853 2SW-1 100 00 4 ||v QT95 _I_ v AJ7
* J8 + KQ763 2DE-1 100 0.0 1 ||e QT7 ¢ 82
& JT7 & K4 2Cs2 90 00 1 » A9 & J872
o ¢VABN ,J3 1NS1 20 00 1 o ¢VABN 4 AQ
N 3~2~1 ¢Q76 3CSs-1 -50 40 2 [N 23 ~~1 v K632
S 3~2~1 ¢A52 4HN-2 100 50 1||S 23 ~~1 ¢AJS3
E ~~~1~ &AQ852 3CS-2 100 50 2 ||E ~~~~~ » K63
W ~~~1~ W ~~~~~




X AY 33z }\ —_
4 113&;«1}_@214%%%% ® ==> R4 4
1 5 NS: BR17$2 FﬁﬁE(EﬁC) 37 2 NS: lﬁ <F ,Iz'IIFL(I%‘iOHQ VP:| 14.00 : 600 Total VP: 56.69 Rank:
EW: #cT-¥ BEEEEEHO) -19 EW: [R# = BRE<F(BAC) -3 IMP:| 26 14 2
S — — I
#1 » Q74 3DE3 110 Mean: 2HS2 110 7.0 1 [[#2 » AJ97 4SN-3 300 Mean: 5CN5 600 11.0 1
v J8 3HS-3150 -200 2HS-1 50 40 1 v AT7 4SN4 -620 90  4SN4 620 11.0 1
¢ J3 Dif: -40 NS:2 3DE3 110 3.0 4 + 983 Dif: 920 NS:11 1NE-4 200 3.0 1
& KQT874 IMP: -1 EW:-3 3CS-2 4100 3.0 1 » K82 IMP: 14 EW:9 5DE-3 150 2.0 1
& AK8 #» T63 3CN-2 4100 3.0 1 T53 #» K86 4CN5 150 2.0 2
v QT64 v2 3HS-3 150 2.0 3 ||e K9864 I v5 2HE-3 150 2.0 1
+ A86 * KT9542 3DE4 4130 20 1 ||e KJ4 3 QT7652 3DE-1 50 1.0 7
& J95 » A62 3CN-3 4150 20 1 ||s Q6 ~ A74 3SN-1 100 -5.0 1
®+VBN 4 J952 3NN-5 250 2.0 1 e VAN 4, Qa2 2SN-1 100 -50 1
N 1~~~ ~ ¢ AK9753 3NW3 400 -50 2|IN 5~331 » QJ32 2NS-1 100 -5.0 1
S 1~1~~ ¢Q7 4HXS-3 500 70 1(||S 5~331 A 4SN-3 300 9.0 1
E ~4~~3 &3 4HXS-4 800 -120 1 ||E ~1 ~~ ~ & JT953
W~4~~3 W ~1~~~
#3 » 86 3NE-1-100 Mean: 4HXW-1 200 7.0 1 ||#4 » AQ 6CN6 -1370 Mean: 6NN6 1440 110 3
v QJ64 4HXW-1 -200 -70  4HW-1 100 50 6 v AKJ9 6DS6 -1370 910  6DS6 1370 100 2
¢ A43 Dif: 100 NS:7  3NE-1 100 50 1 ¢ KT3 Dif: 0 NS:10 6DN6 1370 100 2
& T763 IMP: 3 EW:-5 3HW-1 100 50 1 & KJ94 IMP: 0 EW:-10 6CS6 1370 100 1
& AQ53 a J7 2NN-2 100 1.0 1 ||a JT953 » K87642 6CN6 1370 100 4
v AKT975 v 32 3HW3 140  -20 1 ||e Q8654 + v T72 3NN6 690 6.0 1
* K6 ¢ T9752 2HW3 140 -20 1 ||e5 ¢ J74 6CS-1 100 140 1
& K & A985 3HW4 470 -30 2 ||s 76 aA 7NXN-1 200 -15.0 1
% ¢V BN 4 KT942 2HW4 470 -3.0 2 *OIVAN , 7CXN-1 200 -150 3
N ~~~~~ v8 4HW4 620 110 2[IN 56 ~~6 ¢3
S 1~~~~ ¢QJ8 S 56 ~~4 ¢ AQ9862
E ~32~1 &QJ42 E ~~~~~ & QT8532
W ~33~1 W ~~~~~
#5 a4 T8 3NN3 -600 Mean: 4SS5 650 20 4 (|#6 s J7 4CXS-3 500 Mean: 3CXS-2 -300 80 1
v A2 4SS5 -650 580  4HS5 650 2.0 3 v K9843 4SW5 650 -660  4CXS-3 500 4.0 1
+ Q5432 Dif: 50 NS:2 3NN5 660 20 1 + Q652 Dif: -150 NS:0 5SW5 650 0.0 2
» A654 IMP: 2 EW:-1 3NN4 630 20 2 » 64 IMP: -4 EW:-4 5SE5 650 0.0 1
# K43 & Q92 4S54 620 1.0 1 ||s Q86432 & AK95 4SW5 650 0.0 7
v 864 v T95 4HS4 620 1.0 1 ||w 2 — v AQJT7 4SE5 650 0.0 2
¢ T98 * AJ76 3NS3 600 1.0 1 ||e J9 * K743 4SW6 680 -1.0 1
& J873 » QT2 3NN3 600 1.0 3 ||a QJ92 ~ 5CXS-4 800 -40 2
% ¢ VAN 4AJ765 3sS5 200 9.0 1 FOVAN T 5CXS-5  -1100 -10.0 1
N ~~ 553 ¢ KQJ73 1S5S4 170 90 1||N 1 ~~~~ v 65
8§ ~~553 ¢K S 1~~~~ ¢AT8
E ~~~~~ & K9 E ~~~53 & AKT8753
W ~~~~~ W ~~~53
#7 » QJT6 2DE4 130 Mean: 2DE4 130 80 2 ||#8 aT3 4SE4 420 Mean: 3SE4 170 6.0 1
v J863 1NE6 240 -470  4CW7 190 7.0 1 v Q987 4SE4 420 -410 4SE4 420 0.0 13
¢ 854 Dif: -110 NS:6 1NE6 240 60 3 ¢ QT752 Dif: 0 NS:0 4SE5 450 1.0 4
& QT IMP: -3 EW:-8 1NE5 210 6.0 2 & 83 IMP: 0 EW:0
& A953 a2 1NE7 270 5.0 1 » KJ76 & AQ984
v Q4 + v AK97 3NW4 630 -40 1 ||eT4 v J53
*3 ¢ A9762 5CW7 640 -50 3 ||e A9 * KJ64
& K97642 S » A83 3NW5 660 -50 1 ||a& KJ742 a5
%o ¢ VAN o K874 3NE5 660 -50 2 ¢VAN 452
N ~~~~~ v T52 3NE7 720 60 1[N ~~1 ~~ & AK62
S ~~~~~ + KQJT 6CE7 1390 140 1 ||S ~~1~~ ¢ 83
E 7~~~5 aJ5 E ~~~42 a&AQT9%
W7~~~5 W ~~~42
#9 » KQ5 4HN-2 100 Mean: 3NS4 430 80 2 (|#10 4 J75 1NS2 -120 Mean: 1NS3 150 3.0 1
v AJ92 2NN4 -180 90  3SW-2 200 30 1 v 84 1NS-1100 60  1NS2 120 20 3
¢ T94 Dif: 280 NS:3 2NN4 180 3.0 1 + K964 Dif: -220 NS:-4 1NS1 90 1.0 11
» 963 IMP: 7 EW:5 3CS3 110 1.0 1 & QT54 IMP: -6 EW:-2 1NS-1 100 -40 3
s AT8764 » 92 1NS2 120 1.0 1 || K842 & T963
v T4 v K853 2SW-1 100 00 4 ||v QT95 _I_ v AJ7
* J8 + KQ763 2DE-1 100 0.0 1 ||e QT7 ¢ 82
& JT7 & K4 2Cs2 90 00 1 » A9 & J872
o ¢VABN ,J3 1NS1 20 00 1 o ¢VABN 4 AQ
N 3~2~1 ¢Q76 3CSs-1 -50 40 2 [N 23 ~~1 v K632
S 3~2~1 ¢A52 4HN-2 100 50 1||S 23 ~~1 ¢AJS3
E ~~~1~ &AQ852 3CS-2 100 50 2 ||E ~~~~~ » K63
W ~~~1~ W ~~~~~




X AY 3z }\ —_
4 113&;«1}_@214%%%% ® ==> R4 4
1 6 NS: BF® ﬁ%%(]%ﬁ@ ) 12 NS: Eﬂ::iﬁ ﬁEEIJF(EﬁO) -9 VP:| 10.77 : 923 Total VP: 25.67 Rank:
EW: BEEHE BEYA(RE0) 9 EW: EE & B&IF(EAC) 2 IMP:| 21 19 16
S — I —
#1 » Q74 2HS-1 50 Mean: 2HS2 110 7.0 1 [[#2 » AJ97 3DE-1 -50 Mean: 5CN5 600 11.0 1
v J8 4HXS-3 500 -200 2HS-1 50 40 1 v AT7 3DE-1-50 90  4SN4 620 11.0 1
¢ J3 Dif: -450 NS:-7 3DE3 110 3.0 4 + 983 Dif: 0 NS:-1 1NE-4 200 3.0 1
& KQT874 IMP: -10 EW:-4 3CS-2 4100 3.0 1 » K82 IMP: 0 EW:1 5DE-3 150 2.0 1
& AK8 #» T63 3CN-2 4100 3.0 1 T53 #» K86 4CN5 150 2.0 2
v QT64 v2 3HS-3 150 2.0 3 ||e K9864 I v5 2HE-3 150 2.0 1
+ A86 * KT9542 3DE4 4130 20 1 ||e KJ4 3 QT7652 3DE-1 50 1.0 7
& J95 » A62 3CN-3 4150 20 1 ||s Q6 » A74 3SN-1 100 -5.0 1
%+ VBN 4 J952 3NN-5 250 -20 1 o eVAN 4, Q42 2SN-1 4100 -50 1
N 1~~~ ~ ¢ AK9753 3NW3 400 -50 2|IN 5~331 » QJ32 2NS-1 100 -5.0 1
S 1~1~~ ¢Q7 4HXS-3 500 70 1(||S 5~331 A 4SN-3 300 9.0 1
E ~4~~3 &3 4HXS-4 800 -120 1 ||E ~1 ~~ ~ & JT953
W~4~~3 W ~1~~~
#3 » 86 2HW3 140 Mean: 4HXW-1 200 7.0 1 ||# 4 » AQ 7CXN-1200 Mean: 6NN6 1440 110 3
v QJ64 3HW3 140 -70  4HW-1 100 50 6 v AKJ9 6CS6 -1370 910  6DS6 1370 100 2
¢ A43 Dif: 0 NS:-2 3NE-1 100 50 1 ¢ KT3 Dif: 1570 NS:10 6DN6 1370 100 2
& T763 IMP: 0 EW:2 3HW-1 100 50 1 & KJ94 IMP: 17 EW:15 6CS6 1370 100 1
& AQ53 a J7 2NN-2 100 1.0 1 ||a JT953 » K87642 6CN6 1370 100 4
v AKT975 v 32 3HW3 140  -20 1 ||e Q8654 + v T72 3NN6 690 6.0 1
+ K6 ¢ T9752 2HW3 140 -20 1 ||e5 ¢ J74 6CS-1 100 140 1
& K & A985 3HW4 470 -30 2 ||s 76 aA 7NXN-1 200 -15.0 1
% ¢V BN 4 KT942 2HW4 470 -3.0 2 FOVAN , 7CXN-1 200 -150 3
N ~~~~~ v8 4HW4 620 110 2[IN 56 ~~6 ¢3
S 1~~~~ ¢QJ8 S 56 ~~4 ¢ AQ9862
E ~32~1 &QJ42 E ~~~~~ & QT8532
W ~33~1 W ~ ~~~~
#5 a4 T8 4HS5 -650 Mean: 4SS5 650 20 4 (|#6 s J7 5CXS-4 800 Mean: 3CXS-2 -300 80 1
v A2 4HS5 -650 580  4HS5 650 2.0 3 v K9843 5SE5 650 -660  4CXS-3 500 4.0 1
+ Q5432 Dif: 0 NS:2 3NN5 660 20 1 + Q652 Dif: 150 NS:0 5SW5 650 0.0 2
» A654 IMP: 0 EW:-2 3NN4 630 20 2 » 64 IMP: 4 EW:4 5SE5 650 0.0 1
# K43 & Q92 4S54 620 1.0 1 ||s Q86432 & AK95 4SW5 650 0.0 7
v 864 v T95 4HS4 620 1.0 1 ||w 2 — v AQJT7 4SE5 650 0.0 2
¢ T98 * AJ76 3NS3 600 1.0 1 ||e J9 * K743 4SW6 680 -1.0 1
& J873 » QT2 3NN3 600 1.0 3 ||a QJ92 ~ 5CXS-4 800 -40 2
% ¢ VAN 4AJ765 3sS5 200 9.0 1 FOVAN T 5CXS-5  -1100 -10.0 1
N ~~553 v KQJ73 1S5S4 170 90 1||N 1 ~~~~ v 65
8§ ~~553 ¢K S 1~~~~ ¢AT8
E ~~~~~ & K9 E ~~~53 & AKT8753
W ~~~~~ W ~~~53
#7 » QJT6 1NE6 240 Mean: 2DE4 130 80 2 ||#8 aT3 4SE4 420 Mean: 3SE4 170 6.0 1
v J863 5CW7 640 -470 4CW7 190 7.0 1 v Q987 4SE4 420 -410  4SE4 420 0.0 13
¢ 854 Dif: -400 NS:-5 1NE6 240 60 3 ¢ QT752 Dif: 0 NS:0 4SE5 450 1.0 4
& QT IMP: -9 EW:-6 1NE5 210 6.0 2 & 83 IMP: 0 EW:0
& A953 a2 1NE7 270 5.0 1 » KJ76 & AQ984
v Q4 + v AK97 3NW4 630 -40 1 ||eT4 v J53
*3 ¢ A9762 5CW7 640 -50 3 ||e A9 * KJ64
& K97642 S » A83 3NW5 660 -50 1 ||a& KJ742 a5
%o ¢ VAN o K874 3NE5 660 -50 2 ¢VAN 452
N ~~~~~ v T52 3NE7 720 60 1[N ~~1 ~~ & AK62
S ~~~~~ + KQJT 6CE7 1390 140 1 ||S ~~1~~ ¢ 83
E 7~~~5 aJ5 E ~~~42 a&AQT9%
W7~~~5 W ~~~42
#9 » KQ5 1NS1 -90 Mean: 3NS4 430 80 2 (|#10 4 J75 1NS1 -90 Mean: 1NS3 150 3.0 1
v AJ92 2SW-1-100 90  3SW-2 200 30 1 v 84 1NS1-90 60  1NS2 120 20 3
* T94 Dif: 10 NS:0 2NN4 180 3.0 1 + K964 Dif: 0 NS:1  1NS1 90 1.0 1
» 963 IMP: 0 EW:0 3CS3 110 1.0 1 & QT54 IMP: 0 EW:-1  1NS-1 100 -40 3
s AT8764 » 92 1NS2 120 1.0 1 || K842 & T963
v T4 v K853 2SW-1 100 00 4 ||v QT95 _I_ v AJ7
* J8 + KQ763 2DE-1 100 0.0 1 ||e QT7 ¢ 82
& JT7 & K4 2Cs2 90 00 1 » A9 & J872
o ¢VABN ,J3 1NS1 20 00 1 o ¢VABN 4 AQ
N 3~2~1 ¢Q76 3CSs-1 -50 40 2 [N 23 ~~1 v K632
S 3~2~1 ¢A52 4HN-2 100 50 1||S 23 ~~1 ¢AJS3
E ~~~1~ &AQ852 3CS-2 100 50 2 ||E ~~~~~ » K63
W ~~~1~ W ~~~~~




X AY 3z }\ —_
4 113&;«1}_@214%%%% ® ==> R4 4
1 7 NS: £2¢4th %%@(5594 9 NS: Fi—rl?' hsF’(F#JO) 14 VP:| 6.57 13 43| Total VP: 29.71 Rank:
EW: fal o= ) iRA#(EH0) -14 EW: IRi23% 235 (BAC) 4 IMP:| 15 25 14
S — I
#1 » Q74 3CS-2100 Mean: 2HS2 110 7.0 1 [[#2 » AJ97 5CN5 -600 Mean: 5CN5 600 11.0 1
v J8 4HXS-4 800 -200 2HS-1 50 40 1 v AT7 4CN5-150 90  4SN4 620 11.0 1
¢ J3 Dif: -700 NS:-12 3DE3 110 3.0 4 + 983 Dif: -450 NS:2 1NE-4 200 3.0 1
& KQT874 IMP: -12 EW:-3 3CS-2 4100 3.0 1 » K82 IMP: -10 EW:-11 5DE-3 150 2.0 1
& AK8 #» T63 3CN-2 4100 3.0 1 T53 #» K86 4CN5 150 2.0 2
v QT64 v2 3HS-3 150 2.0 3 ||e K9864 I v5 2HE-3 150 2.0 1
+ A86 * KT9542 3DE4 4130 20 1 ||e KJ4 3 QT7652 3DE-1 50 1.0 7
& J95 » A62 3CN-3 4150 20 1 ||s Q6 » A74 3SN-1 100 -5.0 1
%+ VBN 4 J952 3NN-5 250 -20 1 o eVAN 4, Q42 2SN-1 4100 -50 1
N 1~~~ ~ ¢ AK9753 3NW3 400 -50 2|IN 5~331 » QJ32 2NS-1 100 -5.0 1
S 1~1~~ ¢Q7 4HXS-3 500 70 1(||S 5~331 A 4SN-3 300 9.0 1
E ~4~~3 &3 4HXS-4 800 -120 1 ||E ~1 ~~ ~ & JT953
W~4~~3 W ~1~~~
#3 » 86 2HW4 170 Mean: 4HXW-1 200 7.0 1 ||# 4 » AQ 6DN6 -1370 Mean: 6NN6 1440 110 3
v QJ64 4HW-1-100 -70  4HW-1 100 50 6 v AKJ9 6NN6 -1440 910 6DS6 1370 100 2
¢ A43 Dif: 270 NS:5 3NE-1 100 50 1 ¢ KT3 Dif: 70 NS:11  6DN6 1370 100 2
& T763 IMP: 7 EW:3  3HW-1 100 50 1 & KJ94 IMP: 2 EW:-10 6CS6 1370 100 1
& AQ53 a J7 2NN-2 100 1.0 1 ||a JT953 » K87642 6CN6 1370 100 4
v AKT975 v 32 3HW3 140  -20 1 ||e Q8654 + v T72 3NN6 690 6.0 1
* K6 ¢ T9752 2HW3 140 -20 1 ||e5 ¢ J74 6CS-1 100 140 1
& K & A985 3HW4 470 -30 2 ||s 76 aA 7NXN-1 200 -15.0 1
% ¢V BN 4 KT942 2HW4 470 -3.0 2 FOVAN , 7CXN-1 200 -150 3
N ~~~~~ v8 4HW4 620 110 2[IN 56 ~~6 ¢3
S 1~~~~ ¢QJ8 S 56 ~~4 ¢ AQ9862
E ~32~1 &QJ42 E ~~~~~ & QT8532
W ~33~1 W ~ ~~~~
#5 a4 T8 4SS5 -650 Mean: 4SS5 650 20 4 (|#6 s J7 4SW5 650 Mean: 3CXS-2 -300 80 1
v A2 3NS3 -600 580  4HS5 650 2.0 3 v K9843 4SE5 650 -660 4CXS-3 500 4.0 1
+ Q5432 Dif: -50 NS:1  3NN5 660 20 1 + Q652 Dif: 0 NS:0 5SW5 650 0.0 2
» A654 IMP: -2 EW:-2 3NN4 630 20 2 » 64 IMP: 0 EW:0 5SE5 650 0.0 1
# K43 & Q92 4S54 620 1.0 1 ||s Q86432 & AK95 4SW5 650 0.0 7
v 864 v T95 4HS4 620 1.0 1 ||w 2 — v AQJT7 4SE5 650 0.0 2
¢ T98 * AJ76 3NS3 600 1.0 1 ||e J9 * K743 4SW6 680 -1.0 1
& J873 » QT2 3NN3 600 1.0 3 ||a QJ92 ~ 5CXS-4 800 -40 2
% ¢ VAN 4AJ765 3sS5 200 9.0 1 FOVAN T 5CXS-5  -1100 -10.0 1
N ~~553 v KQJ73 1S5S4 170 90 1||N 1 ~~~~ v 65
8§ ~~553 ¢K S 1~~~~ ¢AT8
E ~~~~~ & K9 E ~~~53 & AKT8753
W ~~~~~ W ~~~53
#7 » QJT6 5CW7 640 Mean: 2DE4 130 80 2 ||#8 aT3 4SE4 420 Mean: 3SE4 170 6.0 1
v J863 3NE5 660 -470 4CW7 190 7.0 1 v Q987 4SE4 420 -410  4SE4 420 0.0 13
¢ 854 Dif: -20 NS:-5 1NE6 240 60 3 ¢ QT752 Dif: 0 NS:0 4SE5 450 1.0 4
& QT IMP: -1 EW:5 1NE5 210 6.0 2 & 83 IMP: 0 EW:0
& A953 a2 1NE7 270 5.0 1 » KJ76 & AQ984
v Q4 + v AK97 3NW4 630 -40 1 ||eT4 v J53
*3 ¢ A9762 5CW7 640 -50 3 ||e A9 * KJ64
& K97642 S » A83 3NW5 660 -50 1 ||a& KJ742 a5
%o ¢ VAN o K874 3NE5 660 -50 2 ¢VAN 452
N ~~~~~ v T52 3NE7 720 60 1[N ~~1 ~~ & AK62
S ~~~~~ + KQJT 6CE7 1390 140 1 ||S ~~1~~ ¢ 83
E 7~~~5 aJ5 E ~~~42 a&AQT9%
W7~~~5 W ~~~42
#9 » KQ5 2DE-1-100 Mean: 3NS4 430 80 2 (|#10 4 J75 1NS-1 100 Mean: 1NS3 150 3.0 1
v AJ92 1NS2-120 90  3SW-2 200 30 1 v 84 1NS1-90 60  1NS2 120 20 3
* T94 Dif: 20 NS:1  2NN4 180 3.0 1 + K964 Dif: 190 NS:1  1NS1 90 1.0 1
» 963 IMP: 1 EW:0 3CS3 110 1.0 1 & QT54 IMP: 5 EW:4 1NS-1 100 -40 3
s AT8764 » 92 1NS2 120 1.0 1 || K842 & T963
v T4 v K853 2SW-1 100 00 4 ||v QT95 _I_ v AJ7
* J8 + KQ763 2DE-1 100 0.0 1 ||e QT7 ¢ 82
& JT7 & K4 2Cs2 90 00 1 » A9 & J872
o ¢VABN ,J3 1NS1 20 00 1 o ¢VABN 4 AQ
N 3~2~1 ¢Q76 3CSs-1 -50 40 2 [N 23 ~~1 v K632
S 3~2~1 ¢A52 4HN-2 100 50 1||S 23 ~~1 ¢AJS3
E ~~~1~ &AQ852 3CS-2 100 50 2 ||E ~~~~~ » K63
W ~~~1~ W ~~~~~




X AY 3z }\ —_
4 113&;«1}_@214%%%% ® ==> R4 4
1 8 NS: ZFiss lIi,é‘Lﬂﬂ(]%ﬁC) 20 1 3 NS: Fﬁ;ﬁ{*ﬁ EEL(EﬁO) -6 VP:| 15.29 : 4 7 Total VP: 56.48 Rank:
EW: BEaE {a[tZE(BEO) 6 EW: B3 {E #F{E(BAC) -2 IMP:| 40 : 23 3
S — — I
#1 » Q74 3DE4 130 Mean: 2HS2 110 7.0 1 [[#2 » AJ97 4CN5 -150 Mean: 5CN5 600 11.0 1
v J8 3HS-3150 -200 2HS-1 50 40 1 v AT7 3DE-1-50 90  4SN4 620 11.0 1
¢ J3 Dif: -20 NS:2 3DE3 110 3.0 4 + 983 Dif: -100 NS:-1 1NE-4 200 3.0 1
& KQT874 IMP: -1 EW:-2 3CS-2 4100 3.0 1 » K82 IMP: -3 EW:-2 5DE-3 150 2.0 1
& AK8 #» T63 3CN-2 4100 3.0 1 T53 #» K86 4CN5 150 2.0 2
v QT64 v2 3HS-3 150 2.0 3 ||e K9864 I v5 2HE-3 150 2.0 1
+ A86 * KT9542 3DE4 4130 20 1 ||e KJ4 . QT7652 3DE-1 50 1.0 7
& J95 » A62 3CN-3 4150 20 1 ||s Q6 » A74 3SN-1 100 -5.0 1
%+ VBN 4 J952 3NN-5 250 -20 1 o eVAN 4, Q42 2SN-1 4100 -50 1
N 1~~~ ~ ¢ AK9753 3NW3 400 -50 2|IN 5~331 » QJ32 2NS-1 100 -5.0 1
S 1~1~~ ¢Q7 4HXS-3 500 70 1(||S 5~331 A 4SN-3 300 9.0 1
E ~4~~3 &3 4HXS-4 800 -120 1 ||E ~1 ~~ ~ & JT953
W~4~~3 W ~1~~~
#3 » 86 4HW-1 -100 Mean: 4HXW-1 200 7.0 1 ||# 4 » AQ 6CS-1100 Mean: 6NN6 1440 110 3
v QJ64 3HW4 170 -70  4HW-1 100 50 6 v AKJ9 6NN6 -1440 910 6DS6 1370 100 2
¢ A43 Dif: -270 NS:-3 3NE-1 100 50 1 ¢ KT3 Dif: 1540 NS:11 6DN6 1370 100 2
& T763 IMP: -7 EW:-5 3HW-1 100 50 1 & KJ94 IMP: 17 EW:14 6CS6 1370 100 1
& AQ53 a J7 2NN-2 100 1.0 1 ||a JT953 ~ K87642 6CN6 1370 100 4
v AKT975 v 32 3HW3 140  -20 1 ||e Q8654 + v T72 3NN6 690 6.0 1
* K6 ¢ T9752 2HW3 140 -20 1 ||e5 ¢ J74 6CS-1 100 140 1
& K & A985 3HW4 470 -30 2 ||s 76 aA 7NXN-1 200 -15.0 1
% ¢V BN 4 KT942 2HW4 470 -3.0 2 FOVAN , 7CXN-1 200 -150 3
N ~~~~~ v8 4HW4 620 110 2[IN 56 ~~6 ¢3
S 1~~~~ ¢QJ8 S 56 ~~4 ¢ AQ9862
E ~32~1 &QJ42 E ~~~~~ & QT8532
W ~33~1 W ~ ~~~~
#5 a4 T8 3SS5-200 Mean: 4SS5 650 20 4 (|#6 s J7 5SW5 650 Mean: 3CXS-2 -300 80 1
v A2 3NN3 -600 580  4HS5 650 2.0 3 v K9843 5CXS-51100 -660 4CXS-3 500 4.0 1
+ Q5432 Dif: 400 NS:1  3NN5 660 20 1 + Q652 Dif: -450 NS:-10 5SW5 650 0.0 2
» A654 IMP: 9 EW:9 3NN4 630 20 2 » 64 IMP: -10 EW:0 5SE5 650 0.0 1
# K43 & Q92 4S54 620 1.0 1 ||s Q86432 & AK95 4SW5 650 0.0 7
v 864 v T95 4HS4 620 1.0 1 ||w 2 — v AQJT7 4SE5 650 0.0 2
¢ T98 * AJ76 3NS3 600 1.0 1 ||e J9 * K743 4SW6 680 -1.0 1
& J873 » QT2 3NN3 600 1.0 3 ||a QJ92 ~ 5CXS-4 800 -40 2
% ¢ VAN 4AJ765 3sS5 200 9.0 1 FOVAN T 5CXS-5  -1100 -10.0 1
N ~~553 v KQJ73 1S5S4 170 90 1||N 1 ~~~~ v 65
8§ ~~553 ¢K S 1~~~~ ¢AT8
E ~~~~~ & K9 E ~~~53 & AKT8753
W ~~~~~ W ~~~53
#7 » QJT6 4CW7 190 Mean: 2DE4 130 80 2 ||#8 aT3 4SE4 420 Mean: 3SE4 170 6.0 1
v J863 1NE7 270 -470  4CW7 190 7.0 1 v Q987 3SE4 170 -410 4SE4 420 0.0 13
¢ 854 Dif: -80 NS:5 1NE6 240 60 3 ¢ QT752 Dif: 250 NS:6 4SE5 450 1.0 4
& QT IMP: -2 EW:-7 1NE5 210 6.0 2 & 83 IMP: 6 EW:0
& A953 a2 1NE7 270 5.0 1 » KJ76 & AQ984
v Q4 + v AK97 3NW4 630 -40 1 ||eT4 v J53
*3 ¢ A9762 5CW7 640 -50 3 ||e A9 * KJ64
& K97642 S » A83 3NW5 660 -50 1 ||a& KJ742 a5
%o ¢ VAN o K874 3NE5 660 -50 2 ¢VAN 452
N ~~~~~ v T52 3NE7 720 60 1[N ~~1 ~~ & AK62
S ~~~~~ + KQJT 6CE7 1390 140 1 ||S ~~1~~ ¢ 83
E 7~~~5 aJ5 E ~~~42 a&AQT9%
W7~~~5 W ~~~42
#9 » KQ5 2SW-1-100 Mean: 3NS4 430 80 2 (|#10 4 J75 1NS1 -90 Mean: 1NS3 150 3.0 1
v AJ92 3NS4-430 90  3SW-2 200 30 1 v 84 1NS1-90 60  1NS2 120 20 3
* T94 Dif: 330 NS:8 2NN4 180 3.0 1 + K964 Dif: 0 NS:1  1NS1 90 1.0 1
» 963 IMP: 8 EW:0 3CS3 110 1.0 1 & QT54 IMP: 0 EW:-1  1NS-1 100 -40 3
s AT8764 » 92 1NS2 120 1.0 1 || K842 & T963
v T4 v K853 2SW-1 100 00 4 ||v QT95 _I_ v AJ7
* J8 + KQ763 2DE-1 100 0.0 1 ||e QT7 ¢ 82
& JT7 & K4 2Cs2 90 00 1 » A9 & J872
o ¢VABN ,J3 1NS1 20 00 1 o ¢VABN 4 AQ
N 3~2~1 ¢Q76 3CSs-1 -50 40 2 [N 23 ~~1 v K632
S 3~2~1 ¢A52 4HN-2 100 50 1||S 23 ~~1 ¢AJS3
E ~~~1~ &AQ852 3CS-2 100 50 2 ||E ~~~~~ » K63
W ~~~1~ W ~~~~~




